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Before attempting the question paper, kindly check your
Question Booklet(QB) and O.M.R. Answer Sheet and ensure
that:
- Serial number of Question Booklet(QB) and OMR Answer
Sheet is same.
- All pages and all questions are properly printed
In case of any discrepancy/defect, the candidate should
immediately report the matter to the Invigilator for replacement
of Question Booklet(QB) and OMR Answer Sheet. No claim/
objection in this regard will be entertained after five minutes of
start of examination, candidate will be liable for the same.

2. SATHSIR IA-U=h & UID fau T gy fdet ug)

Read all instructions on the reverse of OMR Answer Sheet.
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On OMR Answer Sheet, use blue ball point pen only. Please,
fill your Roll No. and other information correctly in OMR
Answer Sheet.
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If more than one response is marked for a question, it would be
treated as wrong answer.
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1/3 part of the mark(s) of each question will be deducted for
each wrong answer. (A wrong answer means an incorrect answer
or more than one answers for any question).
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Each question has five options/circles. First four options/circles
(A), (B), (C) and (D) are related to appropriate answer and
fifth option/circle ‘(E)’ is related to ‘Question not attempted’.
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To indicate the correct answer, the candidate has to fill in only
one option/circle (A), (B), (C) or (D) with blue ball point pen
for respective question number on the OMR Answer Sheet. If
the candidate does not want to answer any question then the
fifth option/circle ‘(E)’ should be darkened.
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1/3 part of the marks will be deducted for the questions, if none
of the option/circle are darkened.
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If a candidate leaves more than 10 percent questions or does
not darken any of the five options, he/she will be disqualified
for the exam.
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If there is any sort of ambiguity / mistake either of printing or
factual in nature in Hindi or English version of questions, then
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Use of Mobile Phone / Bluetooth Device or any other electronic
gadget in the examination hall is strictly prohibited. If any such
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A mass of liquid weighs S00N when exposed to
standard earth’s gravity g = 9.8 m/s>. Mass of the
liquid will be:

Tk qeall o TeeaTohN Ul g = 9.8 m/s? & Wk H 3T
T TS T FSIHM W 500N BT 21 T HT a0

A

(A) 4900 kg
(B) SIN
(C) Slkg

(D) 1.96x1072N
(E)  Question not attempted / SATATT T

IfY is unit weight of fluid in N/m3, Q is discharge
in m3/s and Hyy, is head added to the flow in m.
In case of work done over a fluid, the power input
‘P’ into the flow is .

T Y ST HI3HTE TR N/m> A 8, o=t Q m¥/s |
B Hy, , m ¥ VAR H IS AT TS ©.

73 T e T ¥ A, ST § 9 e
‘P’ 2

Y
(B) P—%—m
(€ P=0.H,.Y

H
(D) P:Qym

(E)  Question not attempted / ﬂ'ﬁﬁﬁ el

The equation of motion for laminar flow of a real
fluid is:

(A) Navier —Stokes Equation

(B) Euler’s Equation

(C) Bernoulli’s Equation

(D) Hagen — Poiseuille Equation

(E)  Question not attempted

ITEqTIeh dtt 9erd o AR Ya1g o fora fq
H’Eﬁw%z

(A)  AfoErR-Eae grfietr

(B) I R GHIHTOT

(C) Tt gt
(D) TH-UITEE GHiRT
() Iqaid o

,.).

When the Mach number is less than unity, the

flow is called:

(A) Sonic flow

(B) Supersonic flow

(C)  Sub-Sonic flow

(D) Hyper-Sonic flow

(E)  Question not attempted

S Ok AT Uk § o Bidt &, 9T a8 ol shal STdT
5

(A) Hifs yaTE
(B) YWHINF JaTE
(C) Te-HifHe yaTe

(D) TSR JaTe
(E) rgdia g

IfCy, C, Cqand C,are the hydraulic coefficients

of an orifice , then :

Where, Cy= coefficient of velocity
C. = Coefficient of contraction

Cq4 = coefficient of discharge

C; = coefficient of retention

Ifg Cy, C., Cq 3 C, et &5 (orifice) &
e, Cy = ST TR

Cq = foresi= Turieh

C; = ST TU1Th

(A) Cy=C.+Cq

B) Cg=CcxCy
_CV
C_C_d
(D) C,=1+C2/Cy

© C

(E)  Question not attempted / 3T e
[ Contd...
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6 Consider a fluid flow through an orifice of area
0.8 m? with an actual discharge of 800 lit/s. If the
velocity of flow through the orifice is 2m/s, then
the coefficient of discharge is:

0.8 m” &% AT T fBF (orifice) & TR T&

I 39 W fomm =, S awafas faese

800 forev/ashe 81 9 192 (orifice) ¥ B Y4TE &I

T2 m/s e, ﬁﬁﬂﬁ?ﬂ@ﬁ%%:

(A) 0.68 (B) 0.50

(©) 071 (D) 0.56

(E)  Question not attempted / 343_3&?[ 99

7 Match List I with List II
ListI List I1

a. Euler’s equation 1. Principle of
by a free jet momentum

b. Pressure exerted II.  Equation for
by gas molecules conservation of

momentum

c. Rotatinglawn  III. Momentum
sprinkler equation

d. Equation of IV. Bernouli’s equation
motion along a
stream line

=it 1ol =t 119 gaferd s
T 1 ERint|

a. WHSCIUIM I "o fagia
T GHTRTT

b. THSAUSI G L HeT ok HEW % forg
SHIRIKIBIKCIC) EEicau

c. UHATEIATAM I  HAT qHIHT
fEserer

d. gRN@IRET V. S BT GHR
T ST FHTRTT

Choose the correct answer from the options given

below.

<R3 fow e Pt 3 8 et S

(A) a-ll, b-IV, c-1, d-II

(B) a-Il, b-I, 111, d-IV

(C) a-II, b-IIL, c-1, d-IV

(D) a-l, b-I, c-1V, d-1II

(E)  Question not attempted / 34'@'&?[ Iq

E3] )-).

10

An assumption for the Bernouli’s equation is:
(A)
(B) Flow is compressible
(C) Flow is steady

Flow is rotational

(D) Flow is turbulent

(E)  Question not attempted
FTeAT o THIRTT o foTT Teh 9o 2:
(A) TEEHU

(B) vaTE wdifga @

(C) vamEReRe

(D) e Jelsa &

(E)  3gaiid o=

Continuity equation is based on :

(A)

(B) Principle of conservation of momentum

Principle of conservation of mass

(C) Principle of conservation of weight
D)
(E)  Question not attempted
T HIRT 36 9L AT &
(A) ST GLET T fgia
(B) T TXET 1 fogia

(C) R w1 fagia

(D) Tt St wievT o fagia
(E) a9

Principle of conservation of kinetic energy

The correct definition of piezometric head is:

(A)
(B) Sum of datum head & velocity head

Sum of datum head & pressure head

(C) Sum of piezometric head and velocity head

(D)

Sum of piezometric head and dynamic

head
(E)  Question not attempted
3 g (Aafds 2) T gt aitaTsT 8
(A) ITTUR TS 3R I & & I

(B)  3ATUT &S 3T AT 2 T AN
(C) dWiSTafgs e I IAH B T AT
(D) <9 GHA &€ SR TfTe &8 1 AT
(E) 3gaid o=
[ Contd...
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The most important purpose of frog in a brick is
to:

(A)
®)

For improving appearance of brick

Form keyed joint between brick and
mortar.

(C) Reduce the weight of brick.
(D)
(E)  Question not attempted

32 1 SHITT ohT AT HEcd Ul 36 &:-

(A) 32 i feamae gama & fag

(B) 2 3TN HIER o ol Feiieeh S STl
(C) 3T IS HH HE

(D) “WiEe’ Y&M & % $HRM H GIR HT
(E) Ffdia g%

The minimum clear (nominal) covers (in mm) to

Improve insulation by providing ‘hollows’

the main steel bars in footing, column, beam and

slab are respectively-

BT, He, ST ST T 7 e i I/ o AU

AT T (ATHT) FaL (et o) semer: -
(A) 50, 40, 20, 20
(B) 50, 40, 25, 20
(C) 75,40, 35,20
(D) 75,40,25,15

(E)  Question not attempted / 3'-|i|?l|?a Iq

A hexagon drawn with a polygon command has
six lines. If you try to delete one of its lines,
whole hexagon will be deleted. What should be
done to edit it?

(A)
(B)
©)
(D)
(E)  Question not attempted

AieITi FHIS & ST T e | S8 @t &) 1
AT 36 T T 1T i 8 I T HLd &, A T
YZYS B S| W WuTed A ok foIe o e
=TT
(A)
(B)

Use array command
Erase with erase command
Delete the hexagon and draw again

Use explode command

T (UY) TS T ST L
T S | fiard

(C) WS I firerd it fiRe & samd
(D) IS FHHIS HT TN HL
(E) SFfaiaug

,.).

14

15

16

In order to draw lines of infinite length in Auto

CAD, which of the following command is used?

3T CAD ¥ 3fHd oaTs il W@d gi=d & fog,

famafarfad & & forg swuie o1 ST foma strar &2
(A) TLINE (B) ZLINE
(C) XREF (D) X LINE

(E)  Question not attempted / 3T B

A stream having flow of 30m3/s and BOD
concentration of 10mg/L receives industrial
waste water having flow of 5m3/s and BOD
concentration of 120mg/L. The BOD
concentration (mg/L) of stream at downward
point of meeting of stream with industrial waste
is:-

30 m3/s ¥aT8 3R 10 mg/L BOD H|igdT aTeft Th
g 5 m3/s TaTE 3 120 mg/L BOD HigdmaTer
TR STUMTE ST SATaT RISl STAfRTE &
Ty G o A= T AR et foig ot am
BOD digdT (mg/L) &:-

(A) 120 mg/L (B) 25.71 mg/L

(C) 30mg/L (D) 600 mg/L

(E)  Question not attempted / 311?1'?{3 BE)

If the total hardness and alkalinity of a sample of
water are 350mg/L and 150mg/L (CaCO, scale)
respectively, then its carbonate and non-carbonate
hardness (in units of mg/l) will be respectively-
(A) 150and 200 (B) 150 and 350

(C) 200and 350 (D) 100 and 350

(E)  Question not attempted

afe I o T T H FA FRAT HIT AREar
R 350mg/L 3R 150mg/L (CaCO, he) 8, Tl
H FEHE FRX RFEHE FSRAT (mg/l H

QEFIE?ﬁff) SHUST: BITi-
(A) 1503200 (B) 1503350
(C) 2003F350 (D) 10037350
(E) qaiaug
[ Contd...
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The sewage treatment plant which part require

large area :-

(A) Biological filter

(B) Septic tank

(C) Oxidation pond

(D)  Trickling filter

(E)  Question not attempted

s dene wiie o fore forg A & e s e
SATITIRAT Bl 8-

(A) ST et
(B) ufewdw

(C)  SATHHIHIT ATTe
(D)  feepfeim fheet

(E) 3rafd 9

Approximately how many types of minerals are
found in Rajasthan ? (Choose the most
appropriate answer from the options given
below)

Toreer™ § T fohad @i o S & (i fiu
T foehedl § @ Had 3ug S )

(A) 23 (B) 33

(C) 44 (D) 67

(E)  Question not attempted / ﬂaﬂﬁﬁ Iq

Which of the following schedule contains 29

functional items placed within the preview of

Panchayats?

(A) Eighth Schedule
(B) Tenth Schedule
(C) Eleventh Schedule
(D)  Twelfth Schedule

(E)  Question not attempted
Fpeaferfian 3 & fer il derrrd % am 20
FHIATcH He WS 82

(A) et =
(B) wwell srqeet
(C) vrEdt rggst
(D) STt gt
(E) Iqaid g%

,.).

20

21

Which two municipal corporations are added to
Rajasthan Municipal Corporation in September

2024?

(A) Udaipur, Bikaner

(B) Bhilwada and Pali

(C)  Jodhpur, North Kota
(D) Ajmer, Alwar

(E)  Question not attempted

foars 2024 § USEYE TR W 9 S0 9 TR
frm e

(A) I, StHMT
(B) farer TR drelt
(C) SIEY, Il
(D) 3SR, 3TeA

(E) 31aid o

Which of the following statement is not correct?
(A) The Constitution does not contain any
specific procedure for the selection and

appointment of the Chief Minister.

(B) Before the chief minister enters his office,
the governor administers to him the oaths
of office and secrecy.

(C) The term of the Chief Minister is fixed

(D) The Chief Minister holds the office during
the pleasure of the governor

(E)  Question not attempted

frfafaa o & H-a1 %ue a8 38 82

(A) e & qegest & =7 3 i & fog
¢ fafire wfshar 72 21

(B) WEHHAT o UEWR U8W A § U8 UsAuTe
372 UG ST Mo i wrae feema 2

(C) et it Frfehret ffira gt 2

(D) HEHHAT TSAUTS skl Hff e U8 qT &7 Tl
2l

(E) a9

[ Contd...
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A State Human Rights Commission can inquire
into violation of human rights only in respect of

subjects mentioned in the:-

(A) Union List (List I) and State List (List IT)

(B) State List (List II) and Concurrent List
(List TIT)

(C) Union List (List I) and Concurrent List
(List IIT)

(D) Union List (List I), State List (List II) and
Concurrent List (List IIT)

(E)  Question not attempted

TSI HHATIRR RN shad AAfafad fawt &
Gy H AR o Secio shl ST oht HehdT 2:-

(A)  He g (= 1) S TSy = (g )

(B) TSF g (=i 11) 37T wsare! gt (= 110)

(C)  worg=h (g 1) ST e g (&= 110)

(D) o g=ft (&= D), TsT g (R 1) SR
et =t (gl 1)

(E) Ffaita g

The State Information Commission has a duty to

receive complaints from any person:-

(A) who has been refused information that was
requested

(B) who has received no response to his/her
information request within the specified
time limits

(C) whothinksthe fees charged is unreasonable

(D)  who thinks information given is incomplete
or false or misleading

(E)  Question not attempted

ST YT SN 1 I8 Fried & o a8 fefafad
Ffral ¥ f3Terrrd uTe -

(A) TS ATl TS G O | 7T o fear mm ar

(B) & fraifea awa dimr & +fiae 3k g
ST X IS ffsham Tet firett 2

(€) & e 2 fop ft 7€ P erqfea @

(D) forer e & feh < 78 g vt 3 g1t o
AT &

(E) Iqaid g%

,.).
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25

26

Which of the following fort was built by Raja
Man Singh Tin 1592AD?

(A) Mehrangarh Fort

(B) Chittorgarh Fort

(C) Amer Fort

(D) Kumbhalgarh Fort

(E)  Question not attempted

fr=fafaa & @ $i9-a1 fFar 1592 €. 7 T qHfEE
Y T ST TRIT 412

(A) WG fohett

B) ferdteme foe

(C) e foher

(D)  HwelTg fehett

(E) STgaiawd

Siliserh lake was built by:-

(A) Maharaja Vinay Singh

(B) Mabharaja Jai Singh

(C) Maharaja Bakhtawar Singh
(D) Mabharaja Rai Singh

(E)  Question not attempted

Fretire gt s fmior foress g formam mm e
(A) R fa fife

(B) WEHIST sAfde

(C) VBRI sREdTaRidE

(D) HERIST TAfdiE

(E) 3l o=

In 1986 who among the following was awarded
Murtidevi Award?

(A) Birbal Singh

(B) Vijaydan Detha

(C) Kanhaiya Lal Sethia
(D) Kaviraj Shyamal Das
(E)  Question not attempted

1986 # frmfafias & @ fora Afdedt R @
AT TR TRIT 9T?
(A) e fog
) REERHEED)
(C) THredTaTd gfsa
(D) HISIS HASTE
(E) aid 9
[ Contd...
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Name the soldier who revolted in Barrackpore
Cantt. and killed an officer in 18577

(A) Vijay Kudarat

(B) Mangal Pandey

(C)  Sher Singh

(D) Dalip Singh

(E)  Question not attempted

39 Qe T T Tq15Y S 1857 § YL e &

farsie fepa @it ue stfrent i1 gear s
(A) FSE$Fe@ (B) H@Uie
(C) INfEE (D) TAufdE
(E) i g

Mewar Praja Mandal was established by:-
(A) Manikya Lal Verma

(B) Mithalal Vyas

(C) Bhogilal Pandya

(D)  Anmritlal Payak

(E)  Question not attempted

AT TSITHES 3hT TATIAT fehefeh g 31 113 off?
(A) TTfoTeRIET 9uf

(B) HISA =A™

(C)  ficTet dear

(D) AT T

(E) gaid o=

Which of the following Riyasat were merged in

2" stage and named as Rajasthan Sangh?

(A) Bikaner, Jaisalmer

(B) Bharatpur, Karauli, Alwar

(C) Alwar, Kota, Udaipur, Bikaner

(D) Banswara, Bundi, Kishangarh, Tonk,
Pratapgarh

(E)  Question not attempted

freaferfiaa o & fore femara = g =reor # forer gam

ST ST T TS 9 @1 T2

(A)  SfRMT, ST

(B) WA, Hilctl, STt

(C) HTI, I, IFA, HfhT

(D) ST, S, feperaTe, <ieh, SaTTg

(E) Igaid g

,.).

30

31

32

The area between the two isohyets 40cm and
60cm is 100km?, and that between 55cm and 45
cm is 100km? .What is the average depth of
annual precipitation (use isohyeatal method) over
the basin of 200 km??

(A) 50cm B)
() 5S5cm (D)
(E)  Question not attempted

31 FHANT w@rel 40 9 3R 60 | & off= v
&6 100 forefi? 7, 3T 55 9ft 3w 45 Tt 6 o=
T &6 100 Toret? 21 200 fort? & s wx aitian
TuT (FHEET @I T ST ) i T T
FTE?

500 cm
550 cm

(A) 50 9Ht (B) 500 9t
(C) 59Ht (D) 550 Tt
(E) i o=

If ‘a’ is the area , P is the precipitation and ‘n’ is
the number of raingauge stations in a catchment

area, then weighted mean rainfall is:

IS ‘a’ AABA 8, P I & 3T ‘n’ TR &1 | a9

T ST 1 ET 2, A i i 2
Z:aP3 ZaP
W S ® S
P P’
© ZT“ (D) %

(E)  Question not attempted / 3T B

Lysimeter is used to measure:

(A) Humidity

(B) Infiltration

(C) Evapotranspiration

(D) wind speed

(E)  Question not attempted

AT FI ST 79 o fore fomam Strar
2l

(A) JAEar (B) Iid:TEd
(C) aTSdIeEs (D) FATH A
(E) 3fmild 9%
[ Contd...
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The Bowen ratio is defined as:

(A) The ratio of heat and vapour diffusivities

(B) Proportionality constant between vapour
heat flux and sensible heat flux

(C) Ratio of actual evapotranspiration and
potential evapotranspiration

(D) Proportionality constant between heat
energy used up in evaporation and bulk
radiation from a water body

(E)  Question not attempted

SIS ST I 36 T GICATI fofaT ST 2:

(A) T AT forgrLor 1 SI{ard

(B) 9T 5T YaTe 3R Tt HFAT YaTE o s
FATaTTAeRaT e

(C) dTdfash ardicas 3T T ITsaredsi
T ST

(D) oTSHIeRET | IWRINT FT TS ST el 3N
SRR € e Ao ¢ fafror & e
FAATT AR feertien

(E) S7aia g4

An isohyet is a line joining points of:

(A) Equal temperature

(B)  Equal humidity

(C)  Equal evaporation

(D)  Equal rainfall depth
(E)  Question not attempted
Hu A e figatt i fier areft e e:
(A) THM AIHE

(B) | 3TTar

(C) 9| aredieRtur

(D) | 991 Tes

(E) a1

,.).

35

36

37

A 6 hour storm has 9cm of rainfall and the
resulting run off was 6¢cm. If ¢ index remains at
the same value, which one of the following is

runoff due to 12cm of rainfall in 9 hours in the

catchment?

(A) 45cm B) 75cm
(C) 6.0cm (D) 90cm
(E)  Question not attempted

6 ® % qBM H 9 GH a9 g% IR qRumHEEY
STITE 6 TEft oM ATE ) FeTehish AHIT A W& 2,
Al TR & | 9 H H 12 HH N1 o BT IS
freafefiaa & & e 22

(A) 4.59H (B) 7.59Ht
(C) 6.09H (D) 9.0 9t
(E) rgdia o=

)

Bending moment ‘M’ and Torque ‘T’ are applied
on a solid circular shaft. If the maximum bending
stress is equal to the maximum shear stress
developed ,"M’ is equal to:

T T S &) AT HATIhad sfoh Thderet fehfad
HATeRad At JfTae o e 8, @ M’ S &

(A) T B) T2
(© 2T (D) T/4
(E)  Question not attempted / 3T A

Volumetric strain is defined as which of the

following?

s oy # Frer i @ R ww ot
forar Strar 22

V m
A F7 B 57

oV oV
(O ™
(E)  Question not attempted / 3T )
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Euler’s crippling load formula gives buckling
load of long columns that is the ultimate load a
column can take. Mathematically Euler’s formula
can be expressed as

I T TorufcltT e ®iar el Tl T el
SIS a1 & 31 o =R AR 8 98 Tk &9 o dehalT 2

IO ®9 H I T % ¥ H Ih
[ERIEIRET I
2 2
n_El n_El
A) P="5~ (B) P="5-
(A) 72 B) L2
_2n’El _4n’El
© P==5 D) P=""7

(E)  Question not attempted / aaﬁﬁ?f Iq

Who among the following took part in Indian
freedom movement and was the first woman in
Rajasthan to get arrested?

(A) Kishori Devi
(B)
©)

(D)

Anjana Devi

Janakidevi Bajaj

Rama Devi

(E)  Question not attempted

ffafaa & o forea s Tadsar dum & W
foram it finwar 819 areft Tereur i ueedt afear
off?
(A) TRt 3=t
ST et
BIEEIEEIEEIE]
(D) Tt

(E) Igaid o=

,.).

(B)
©

40

41

42

How many km of international border is there

between Rajasthan and Pakistan?
(A) (B)
© (D)
(E)  Question not attempted

TSI 3R UTferEd™ & o= forad feranrier it

1070 km 876 km

448 km 1232 km

ST €T 82

(A) 1070 ferHt (B) 876 fort
(C) 448 ferrlt (D) 1232 ferelt
(E) a9

What percentage of the land area of Rajasthan is

covered by Hadoti Plateau?
(A) (B)
©) (D)
(E)  Question not attempted

TSI o o TTRTd f[-ATT W EIEHdt &1 48R

6 percent 9 percent

15.8 percent 17 percent

T BT E?

(A) 6 9faera (B) 9 yfcsra
(C) 1589faer@ (D) 17 Wiawra
(E) a2

In Rajasthan, which of the following river is

associated with inland drainage system?
(A) (B)
(©) (D)
(E)  Question not attempted

Tere H, frefafad & 9 wiH-g1 9 siacsig sia

Chambal Banas

Sabi Mabhi

frenreft yorreft @ weiferd 22

(A) <&a (B) E
(C) @t (D) &
(E) orfafaud
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Which of the following region of Rajasthan does
not have very humid or humid climate?

(A) Udaipur (B) Bikaner
(C) Kota (D)  Sirohi
(E)  Question not attempted

TSTE o FFfaiad o § o & i Searg sga
TS 7 79 T &2

(A) 3R (B) @Mt
(C) T (D) Tt
(E) aidu

Which of the following statement is not correct
about Alluvial soil in Rajasthan?

(A) This soil contains enough quantity of lime
and iron

(B) It holds light brown red colour

(C) This soil is found only in North districts of
Rajasthan

(D) This soil is very useful for the production
of wheat, mustard and cotton

(E)  Question not attempted

TSR | Sdle 42! o a1 | frefafad § 8 wH-

|1 o U2 781 82

(A) 79 firgh & =T 37 e vt W & gt 2

(B) 3 %I T Soahl I 1A &Il &

(C) IE g Faat ToEyH & AU et & arg
SIS

(D)  ¥e el T1E, Gedl 37 Hurd o Icared & fog
ERGESERILIN

(E) Ffaita g

In Rajasthan, Bamboo forests is sub-type of
which of the following forest?

(A)
(B)
©)
D)
(E)  Question not attempted

TSR § 919 & ST Ffofad § 9 ford a9
SU-YHI B2

(A) SRS HideR a7

(B) Sa@ad

(C) U shfdarefiar uddia a

(D) 3w guigret o

() Iqaid g%

,.).

Tropical Thorn Forest
Tidal Forest
Sub-tropical Mountain Forest

Tropical Deciduous Forest

10

46

47

48

Who among the following was the First State

Election Commissioner of Rajasthan?

(A) Shri N.R. Bhasin

(B)  Shri Amar Singh Rathore
(C) Shri AK. Pandey

(D)  Shri Prem Singh Mehra
(E)  Question not attempted

frefafiad 9 @ TS % Jo| TST AT AT
EEDY

(A) AN HAR wE =
(B) #ft stfie UER
(C) fus U

(D) #ft Yufie o=
(E) rfdia =

According to Rajasthan Public Service Guarantee

Act 2011, the penalty amount for not providing

service is:-

(A) Rs. 100 per day

(B) Rs. 150 per day

(C) Rs. 200 per day

(D) Rs. 250 per day

(E)  Question not attempted

TSTE e HaT TMRET SATIH 2011 % STTER
YT IUCTSY Tl T T FHIAT TR -

(A) %= 1009fafeT  (B) % 150 Siafew
(C) ®2009fdfeT (D) % 250 Ufdfed
(E) 3{aid 9

Which of the following is the most fire resistance

paint?
(A) Asbestos paint (B) Oil paint
(C) Plastic paint (D) Cement Paint
(E)  Question not attempted
T 1 S-97 U gad 3ATee IRt 82
(A) TEE™ U2 (B) AU
(C) wiesdye (D) ¥HHzUe
(E) qaid 9
[ Contd...
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Ring and Ball apparatus is used for the following

test of bitumen:

(A) Penetration

(B) Viscosity

(C) Ductility

(D) Softening Point

(E)  Question not attempted
T S et Suahter o1 3w fogh & fmfafiad
TLEA0T o FoT fefart SfTaT 2:
INEREL

(B) WMl

(C) d=dr

(D) FEFhE

(E) 3raid 9

The process of adding water to quicklime in order

to convert into hydrated lime is known as:

(A) Quenching (B) Hydration

(C) Slaking (D) Calcination

(E)  Question not attempted

ToreIT 3t <1 T B3gee =1 H 9de o foiq 3aw T
foreT <Y fsha <t 39 &9 8 ST ST 2:

(A) 3mT (B) STerST

(C) TR (D) FeHNIH

(E) Srgaiaug

Le-chatelier’s apparatus is used to find, which of

the following properties of cement?

(A) Workability of cement

(B) Soundness of cement

(C) Initial setting time of cement

(D) Compressive strength of cement

(E)  Question not attempted

T - ST ST T YART HiHe o Frfeiad
O 5 | -6 707 1 R ok foT, fepam ST 22
(A) HiHE it SR

(B)  HIHe ol Aredt

(C) iz =1 yifsres afdr g

(D) dive i ddffeq i

() AJaid g

,.).
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52

53

54

Kesarbagh wildlife sanctuary is situated in:-

(A) Dholpur (B) Alwar
(C) Phalodi (D) Baran
(E)  Question not attempted

FHEN ST SR B R
(A) eIyt (B) 3
(C) aArar (D) @

(E) gaid o

Which of the following environmental issues is
highlighted by Indira Gandhi Canal in Rajasthan?
(A)
(B)
©)
(D)
(E)  Question not attempted

e it Ter e # frefafad § @ e
TR T T R STedt 82

(A) AT

(B) A ygwor

(C) HMHI Ja™

(D) T FraT

(E) o1gaid e

Air Pollution
Noise Pollution
Human Migration

Soil Salinity

The statement not correct about the Desert Soil of

Rajasthan is-

(A) This soil is displaced by winds

(B) It keeps more salinity

(C) This soil is found in Western Rajasthan
(D) It can absorb and hold the water much
(E)  Question not attempted

TSI <At YEarT firdt & 9 § H-97 o gt
TE 22

(A) e firgt game g foreenfa art @
(B)  TE 31fires aurar W@t &
(C) e Tt uferdf Toeom o arg STt ®
(D) I Ut I AT STaenfyd 3 9T &t
b1 &
(E) 31qaid o
[ Contd...
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Udaipur region lies under which of the following
agro-climatic zone of Rajasthan?

(A) Arid Western Plain Zone

(B)
©
(D)
(E)  Question not attempted

I & TSEAH o Hfaiad § 8 fore FN-
ST &5 o STaTid 37T 872

(A) [ fEHt fee &

@B) ffea st afeed fer &=

(C)  3ref 31 g Bt &

(D)  39-31T% afequft AT &

(E) gaid 9

Irrigated North Western Plain Zone
Semi Arid Eastern Plain Zone

Sub-humid Southern Plain Zone

Nagauri breed of cow is found prominently in
which of the following places of Rajasthan?

(A)
(B)
(©)
(D)
(E)  Question not attempted

AN & <Al T TSTEAH o TefeTiad & § forgr
T T TG § U7 STt 22

(A) wER

(B) &AM

(©)  rT

(D) 3R

(E) 3rgafd 9

Bikaner
Hanumangarh
Kota

Udaipur

In Rajasthan, Anta power project is based on

which source?

(A) Water (B) Coal
(C) Gas (D) Atomic Energy
(E)  Question not attempted

TSTET | 31T forega aftarsn fore did o smrarfid
2

(A) (B) whiga
() = (D) AT S
(E) 3rgaid o

,.).
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59

60

About 70% of the irrigation in Rajasthan is from:-
(A)
(B)
©)
(D)
(E)
TIIH H AT 70% =8 A2l
(A) T ST

(B) e ST At

(C) ¥ IR I

(D) el SR A&

(E) Igaid o

Rivers and Canal
Ponds and Lakes
Taps and tube wells
Nadi and Bawdi

Question not attempted

Which of the following lake is not a salt water

lake?

(A) Didwana (B) Kolayat

(C)  Sambhar (D) Pachpadra

(E)  Question not attempted

TR & & -6 sier @ ot i 3 &1 82
(A) Ereamr (B) Hmd

(€) &I (D) T=HeT

(E) Ffdia =

During year 2014-2018, approximately how
much length of the National Highway is added

with reference to Rajasthan?

(A) 3600 km (B) 8300 km
(C) 9500 km (D) 6800 km
(E)  Question not attempted
¥ 2014-2018 & SHH, TIEIN & e A7 T
Tt Y TS e fehdt o7 TS 29
(A) 3600 TepHt (B) 8300 ferHt
(C) 9500 ferdt (D) 6300 ferHt
(E) gaid o
[ Contd...
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Characteristic strength of M20 concrete is
20 MPa. What is the number of cubes having
28 days compressive strength greater than

20 Mpa out of 100 cubes made with the concrete?

M20 shshi =i Tf¥ereriites 31k 20 MPa 2| Fshie
e 100 741 7 & 28 fo st weffe 91k 20 Mpa @

3T aTet BT oht ST fehat 22

(A) 80 B) 95

(©) 50 (D) 100

(E)  Question not attempted / 34'@'&?[ 99

Modulus of elasticity of concrete is increased

with-

(A) Higher W/C ratio

(B)  Shorter curing period
(C) Lesser vibration

(D) Increase in age

(E)  Question not attempted
FshIe ok TcATEIdT ATk | Jfg ek amer areft 22
(A) 3= W/C 3T{urd

(B) H SUER AT

(C) FHIRIT

(D) IFHIE

(E) SFfdia

According to IS 800 : 2007, the minimum pitch
of the rivets shall not be less than-

IS 800 : 2007 o HTAR, fedg@ ht =Fan o= fe
¥ ohn T BT =R

(A) 2.5d
(B) 3.0d
(C) 2.0d
(D) 1.5d
(E)  Question not attempted / 34'@'&?[ 99

,.).
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64

65

A propped cantilever beam of span ‘L’ and
constant plastic moment capacity ‘Mp’ carries a
concentrated load at mid span, then the load at
collapse will be-

e L’ R e waTiesh ATt &aT ‘Mp® &l
e foohT BT hieettat sftw wea ThelTel W e Hehf-sd

R &7 AT 7, T FaTa 78 I 2T -
(A) 2Mp/L

(B) 4 Mp/L

(C)  6Mp/L

(D) 11.76 Mp/L

(E)  Question not attempted / 3 a9y

Some steels do not show yield plateau and show
continuous curve. For such steel, how is the yield

strength obtained?

(A) By drawing 0.5% offset of the strain
(B) By drawing 0.2% offset of the strain
(C) By drawing initial tangent

(D) By drawing initial secant modulus
(E)  Question not attempted

k&3 EIed A=A (yield plateau) =&l feara &
IR it a6 fea@md 81 v wha & o, ofies ©y
FH ITH T ST 2

T T 0.5% IATHUS Eiaat
T T 0.2% IHTH Tt
RfTes T3t W Eieet

(A)
(B)
©
(D)
(E)

TR Tohe HTY R iRt
TN I
[ Contd...
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Why are bricks soaked in water before using in

brick masonary?

(A) For removing dust

(B)  For preventing depletion of moisture from
cement mortar

(C)  For reducing air voids

(D) For reducing efflorescence

(E)  Question not attempted

32 forrE o ST w1 @ 9B 87 W 9t F
forra ST 2

(A) HEEH & U

(B)  wide ureft § 7t it st i Yehd 3 forg
(C) g fifera =t 5w ot o forg

(D) I i HH L o foIg

(E) gaid 9

The type of bond in which every other course
contains both headers and shoulders/stretchers is
called-

(A) English Bond

(B) Russian Bond

(C) Mixed Bond

(D) Flemish Bond

(E)  Question not attempted

S T o8 T ForeH 22 gaY hid H 28T A wieey
EEC AT AHA Bl €, 3 97 Fed 87

(A) Ehemrag (B) Wrmdy

C) Traeesy (D) AT

() raid 9

The unit of dynamic viscosity in CGS unit is :

(A) Stokes (B) Newton
(C) Dyne (D) Poise
(E)  Question not attempted
HSTE SaTE § TTcieh AT T 3T 2
(A) w=E (B) =
(C) = (D) diEs
(E) 3rgaid o

,.).
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71

If the diameter of a capillary tube is doubled then

the capillary rise will be:

(A) Doubled (B) Halved
(C)  Unaffected (D) Trippled
(E)  Question not attempted

fq forelt TRt Feft T =amE IITAT T feam STt
HIRTeRT ST BT

(A) ST (B) e
(C) AT (D) famr
(E) Iqaidud

When a contour interval is fixed between 0.25
and 0.50 m , it indicates

(A)
(B)
©)
(D)
(E)  Question not attempted

SE GH=A A 0.25 3R 0.50 HX * &= a4
fora SITaT B, Ot Ig S Far @ .

(A) TH T EAH

(B) Uk 3Afersh @l g

(C) T T=IST g

(D) U EURE @A

(E) a1

A steep slope
High steep sope
A hilly slope

A flatish slope

The operation of levelling across any river is
termed as:

(A)
(B)
©)
D)
(E)  Question not attempted

ToReft +ft 7t o TaetieRtor 3T TTshaT I et SITaT 2
(A)  TTBTE At

(B) wUTSE AafeAT

©) W@W(Reciprocal)m

(D) W wafeT

(E) qaid 9

Profile levelling
Compound levelling
Reciprocal levelling

Fly levelling

[ Contd...
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The following record refers to an operation

involving reciprocal levelling.

Instrument at Staff reading on Remarks
A B
A 1.155 2,595 Distance AB=500m
0.985 2415 RL of A = 525.500
Find the true RL of B :
(A) 1.155m (B) 525.500 m
(C) 526.500 m (D) 524.065m
(E)  Question not attempted
Frefaiad fente urafies gudacienor @ eftd
AT T HefHd T 2|
TFHTT s ffE feroaforat
A B
A 1.155 2.595 it AB=500 m
B 0.985 2415 A I RL = 525.500
B T dT&dfaeh RL T ShifST:
(A)  1.155HiX (B)  525.500 HIeT
(C) 526.500HT (D) 524.065 HieT
(E) Aqd L)

In the plane table survey the U-fork and Plumb-

bob are required for:

(A) Centering

(B) Levelling

(C)  Orientation

(D) Marking the north pole
(E)  Question not attempted
W e e § T it i @
TR feheeh fore 2t 22
(A) st

(B)  EHART

(C) SAffa~mE

(D) 30 g il Fafgd
(E) Agaid %

,.).
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If WCB (Whole circle bearing ) of AB is 125°
45’, then find the value of quadrant bearing (AB).

afc AB & WCB (Wquf g fawm) 1250 457 8,

=rqter fa=T (AB) &1 A1 1d ISy

(A) S52°15E (B) S 125°45°E
(C) S54°15°E (D) S53°15°E
(E)  Question not attempted / 313?1'?(?[ Iq

The Magnetic bearing of line AB is 135° 30",
What will be the true bearing, if the declination is
5° 15" W?

T@r AB ekt fewm 1350 307 @1 Afe g

5015 W &, At @t fom = erfi?

(A) 140°45° (B) 135°30°

(C) 130°45° (D) 130°15°

(E)  Question not attempted / 31@?1'?{?[ 949

What is ‘SAR’ in remote sensing, a technology
for producing fine-resolution images from a

resolution limited radar system?

(A) Synthetic Array Radar
(B) Synthetic Aperture Radar
(C) Synthetic Apron Radar
(D) Systematic Array Radar
(E)  Question not attempted

I G o *SAR” T &, S e RslTege aret
2R fowed ¥ afcar-Reiem ardt a&efit M it

BETICES:

(A) foofes Wier
(B) THIfes U=t TR
(C) fHafes A ERr
(D) fowedfes TR
(E) orgafau

[ Contd...
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Father of GIS is known as :
(term related to surveying)
(A)
(B)
(©)
(D)
(E)
SSATSUH & fUdT o6t 6 19 © ST ST 2
GEGHESREI BLRE

(A) USRS

(B) TSR rfete

©) f=E

(D) fer=

(E) Agaid g%

Roger James
Roger Tomlinson
Richard

Jurovich

Question not attempted

If the path of an irrigation canal is below the bed
level of a natural stream, the type of cross-

drainage structure provided is:

(A)  Sluice gate

(B) Aqueduct

(C)  Super Passage

(D) Level Crossing

(E)  Question not attempted

afg =g Tet 1 At et wepfas Soam &
TAER § 9 B, A Y& I ST el shig-gast
HTHET 1 TR &

(A) @
(B) UfdEese
(C) TR
(D) ™G ShiteT
(E) Iqaid o=

,.).
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Which of the following is not the main cause for

soil salinity and sodicity?

(A) Irrigation mismanagement

(B) Poor land levelling

(C) Leaching without adequate drainage

(D) Use of heavy machinery, resulting in no
soil compaction

(E)  Question not attempted

Frfafad o 9 &9 g S Jaumar SR R

(Afeféet) = e w7 22

(A)  feE < purefer

(B)  ¥f{ SHAHRTOT T G BT

(C) vty STt et o forT fregrer

(D) W 9= =1 ST, TS ufomeasy
forgt st g &t S

(E) 31qaid 9

If ‘I’ is moment of inertia, ‘R’ is radius of
curvature, ‘E’ is modulus of elasticity, ‘M’ is
bending moment, ‘ ¢’ is bending stress and ‘y’ is
the distance from neutral axis, the flexure formula
is:

aft T e Syt 2, R AT B 2, B
TETEdT A €, M’ S 3T 8, 0 de
Sfdere & T <y’ ST 3781 9 3 &, T ST

M_y_E
(A) T=G~R
M_o_E
B) T = Yy R
M_o_R
(C) T_ y ~E
I _o_R
D) 7= vy E
(E)  Question not attempted / 3T B

[ Contd...
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An eccentric pole 6m high is fixed into the
foundation. It carries a wire at the top and is free

to move sideways. The effective length of the

pole is :

(A) 3m (B) 6m
(©) 12m (D) 18m
(E)  Question not attempted

T 6 HIet S5 Scohead ©WT A1 H @7 g1 21 I8
I O e A T © S et H oH o T T
EReCEIREICIECCIERS

(A) 3HIX (B) 6HIX
(C) 12HIX (D) 18HIX
(E) SIfaia e

If Young’s modulus ‘E’ is equal to bulk modulus
‘K’ , then the value of Poisson’s ratio is:

Jfe AT AYH B’ I A9 K’ & S 2, d

156 STUT T 7 2

(A) 1/4 B) 12

© 173 (D) 3/4

(E)  Question not attempted / aa?lﬁﬁ Iq

In the displacement method of structural analysis,

the basic unknowns are:

(A) Forces

(B) Displacement and forces
(C) Displacement and rotations
(D) Moment and displacement
(E)  Question not attempted
HaTeHe, forsduur ot foreerma fafer o, 7o o7a &
(A) &

(B) foreamaw st eer

(C)  Torearmom 3T guiq

(D) 3ot S foreermaq

(E) Igaid =

,.).
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In moment distribution method, the sum of

distribution factor of all members meeting at joint

is always:

(A) One

(B) Zero

(C) Less than one

(D)  Greater than one

(E)  Question not attempted
e feror ferfer o, Sy ot fre aret aeft gew
o ToreoT Tk T FNT g8 AT 2:
A) T

B) A

(C) THuFA

(D) & ¥ 3Afes

(E) 3gaid 9%

Degree of static indeterminacy of a rigid joined
2D plane frame having 12 members, 3 reaction

components and 11 joints is:

12 ragat (members), 3 s et 3T 11
el dTel U 3R Ik 2D THA A hl Tfh
srfferar i feft 2:

(A) 6 B) 3
€ 8 D) 2
(E)  Question not attempted / 3ﬂﬂﬁﬁ BE)

Which one of the following is true of a statistically

determinate beam?

(A) One end is fixed and the other is simply
supported

(B) Both the ends are fixed

(C) The beam overhangs over two roller
supports

(D) The beam is supported on three roller
supports

(E)  Question not attempted

frmafafad & @ s-ar giferda v 9 fyifa §im
FHALH G B?

(A) ThBR 2 AR g8 aicis @
(B) aHiaRfemd
(C) T 31 o gl WAl 5 &
(D) o9 T Vo auelai W SAeifaq ®
(E)  3fmild o=
[ Contd...
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The simply supported beam shown in the figure

18 -

wW
0
A X B
§O) C jo)
— / |
(A) Determinate and stable
(B) Determinate and unstable
(C) Indeterminate and stable
(D) Indeterminate and unstable
(E)  Question not attempted
[EERRECIRIR PIMEACIKIC iR R
W
0
A X B
jO] C jo)
|— / |

(A) fafsa i feer
(B) Tafera ot srfker
(C) Afaa 3 e
(D) AT 3R Al
(E) SFfaia T

The specific gravity and in-situ void ratio of a
soil deposit are 2.71 and 0.7 respectively . The
value of critical hydraulic gradient is

e T frer s frfne e ST E-Hig I Sy
SHUST: 2.71 3T 0.7 B Shifdeh eTESiietsh @t JaurdT
A B

(A) 0.85 B) 0.92
() 095 (D) 1.00
(E)  Question not attempted / 34@3'&?[ Iq

,.).
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The slope of the e-log P curve for a soil mass

gives

(A) Compression index, C,

(B) Coefficient of permeability, K

(C) Coefficient of consolidation, Cy

(D) Coefficient of volume compressibility, my
(E)  Question not attempted

T&T FAHM & foT ST P 95 T @AM T @

HufteT HEehish, C,
TR 3T T[UTih, K
U I U, Cy,
AT HTS T 79T, my,
CRRICRE]

(A)
B)
©
(D)
(E)

The vibratory roller is used for the compaction of

(A) Moist silty sand

(B) Well graded dry sand

(C) Clay of medium compressibility
(D)  Silt of high compressibility

(E)  Question not attempted

FIi U T SYAT T & g & fag
ST 27

(A) THEIH

(B) 3T=! e ¥ afiehd e @

(C) Heam HdteTsiierar areft firgt

(D) 3= duTSAfierdT aTedt T8

(E) rgdia o

For maximum discharge in an egg shaped sewer,

the ratio of depth of flow to vertical diameter is:-

IS & ATHT F Haw 7 fareman feaor & fag

YTATE 3T TTEAS ST Ieatert ST o1 ST -
(A) 095 (B) 033
(©) 0.50 (D) 1.0
(E)  Question not attempted / ﬁﬂﬁﬁ Iq
[ Contd...
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In which zone of pollution in river stream, the
presence of dissolved oxygen will be minimum?
(A)
(B)
©)
D)
(E)  Question not attempted

7t i w1 rgwor 3 e 8 e 8 il
1 Sufturf =pTaw gt

(A) &R &

(B)  @fsha staeeT o1 &

(C)  AwifH o &t

(D) ©T% T T &

(E) afd 9

Zone of degradation
Zone of active decomposition
Zone of recovery

Zone of clear water

As per IRC66 : 1976, the intermediate sight
distance should be:-

IRC66 : 1976 % IR, WeTad 3o g et =, -
(A) (SSD+0SD)/2

(B) (OSD-SSD)/2

(C) 20SD

(D) 2SSD

(E)  Question not attempted / C‘Flflflﬁ?f Iq

As per IRC52 : 2019, the maximum camber that
should be provided on earth road is :-

(A) 1in20

(B) 1in25

(C) 1in40

(D) 1in16.7

(E)
HTEHATTHL. 52 : 2019 % AR, 31 VS W IEH
fopaT ST ATt Stfirehay Fre 2

(A) 20W1

(B) 25W1

(C) 4071

(D) 16.7¥1

(E) 3rafd o

,.).

Question not attempted

19

95

96

97

The safe stopping sight distance for a given road
is 120m and passing distance is 250m. The

intermediate sight distance is:-

(A) 240m (B) 500m
(C) 250m (D) 120m
(E)  Question not attempted

fereft fe e = < fore geferd vk o1 3fE gl 120
et @ I TSR A1 gl 250 Hiet 21 werad gfy gl
-

(A) 240 "X (B) 500 HeX
(C) 250 HIX (D) 120 HIX
() aid v

The shift of the curve(all in meter units if ‘L’ is
length of the long chord and ‘R’ is the radius of
curve) is:-

Tk T faguraT (@t Hiex st § afg L st
Sfa sl e § 3 R’ T il AT R) B -

(A) LR (B) L224R
(C) L?%2R (D) L%6R
(E)  Question not attempted / 3 aug

Some large coarse aggregates are missing and
has good fatigue and tensile strength. Such kind
of Bituminous mix is known as:-

(A)
(B)
©
(D)
(E)  Question not attempted

(BENT) I T=I1Th 1 36 e o fergforrg s =t
T YT ST ST 2:-

(A) T3 W& ¥ U farr

(B) Tu-ies fasor

(C) STYA-Tes fasor

(D) IHTSSE oo

(E) orgafaus

Well-graded mix
Gap-graded mix
Open-graded mix

Unbounded mix

[ Contd...
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Pradhan Mantri Gram Sadak Yojana (PMGSY)
launched in the year 2000 aims to provide rural
connectivity with all weather roads. It was
proposed to connect the habitations of plain areas
of population more than 500 persons by the year:-
a¥ 2000 H Y& T TS TAHHA T G ArSET (A
T St U 91S) T 3T avit et § geeht & @y
TTHOT E9eh Y& AT 8l T TH 500 @
e A okl TS ATel HaTHT &1 ot feaa hl
EIECEIR G

(A) 2005 (B) 2007
(C) 2010 (D) 2024
(E)  Question not attempted / ?Flﬂﬁf{?f 99

The convexity provided to the carriage way
between the crown and edge of pavement is
known as:-

(A)
(B)
©)
(D)
(E)  Question not attempted

HEUTY o Hehe ST fehA o o1 it o ol Y& <l
TS IqAAT hl 36 & H AT ST 8-

(A) e (B) FER

(C) =d (D) afra=d

(E) 3rgafid o

Gradient
Camber
Kerbs

Vertical curve

The maximum allowable water content in

Bitumen sample should be:-

(A) 0.1% by weight (B)  0.2% by weight
(C) 1% by weight (D) 2% by weight
(E)  Question not attempted

fogm Tt 7 stfean wfiewd 9@ amEf @
ITfeu-
(A)
B)
©
(D)
(E)

,.).

W STTER0.1%
W STTETR 0.2%
W STTET 1%
W o STFAT 2%
AR 94

20

101

102

103

Who among the following named ‘Raithan’ to
present day Rajasthan in 1829?

(A)
(B)
©)

George Thomas
Colonel James Tod
C.A. Hackett

(D) V.N. Mishra

(E)  Question not attempted
FferRad o & forg 1829 H ST TSTE &l 419
TIYTT ET?

(A) SitS 9THE

(B) i S 2l

(C) HIu &he

(D) ot s

(E) Igaid e

Who began excavations at Harappa in 1921?

(A) DayaRam Sahni

(B) S.R.Rao

(C) M.R. Mughal

(D) B.K. Thapar

(E)  Question not attempted

1921 H &1 H GeTS fohe & 12

(A) WNHEEA (B) TEARL TG
(C) THALHA (D) dlah IR
(E) 3gaid o

Who among the following associates the dynasty
of Guhils with the rulers of Vallabhi?

(A)
(B)
©)
(D)
(E)  Question not attempted

ffaRgd #§ @ &9 Tiedl & o F aGoadt &
IITHeh ¥ ST 22

(A) ST

(B) I oIt

(C) Sordt

(D) TS 3|t

(E) 3rfmild o=

James Tod
Abul Fazal
Nainasi

Gopinath Sharma

[ Contd...
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In 1539 Sher Shah Suri, defeated Humayun in the
battle of -

(A) Kannauj (B) Panipat

(C) Chausa (D) Chanderi

(E)  Question not attempted

1539 7 XRTTE Gt 5 TR 1 fopdt T B

(A)  FHIST (B) UHud

(C) = (D) =@

() Aqaid

Famous architect Vidyadhar Bhattacharya
designed which of the following city of Rajasthan?
(A) Jaisalmer (B) Jaipur

(C) Bundi (D) Ajmer

(E)  Question not attempted

g aRgER foemr weEE ¥ TeeE ¥
frefcftad o @ & @ et i festme fora am

(A) SETH (B) AT

(€) (D) 3

(E) 3raid 94

Which fort is situated on a plateau which is

famous as the Plateau of Mesa?
A)
B)
©
D)
(E)
-4 foh el 38 Y8R T e @ ST #ET o Y8R & 10
ERICEE

(A) TG
B) foriteTe
(C) TorMR
(D) TEUTg
(E) Iaiayq

,.).

Kumbhalgarh
Chittorgarh
Ranthambhor
Nahargarh

Question not attempted

107

108

109

Who among the following is the founder of

Niranjani Sect?

(A) Laldas

(B)  Jasnathji

(C) Dadudayal

(D) Saint Haridas

(E)  Question not attempted

i § & w1 FiSH dyer o geemde &2
(A) dIeE (B) SEATYST

(C) argeATeA (D) HdEiE™

(E) rgaia g

Who among the following established thirty-six
workshops (Chhattis Karkhanas)?

Choose the most appropriate answer from the
options given below.

(A)
(B)
©)
(D)
(E)  Question not attempted

ffaRad 7 @ fore e s wefud
it fow T forshed & € HeE ST ST ]

(A) HETIST §dTS SAfdE

(B) s HTHIfE

(C) WERIST HiTeAfdE

(D) WERIST Sofad ¥

(E) 3fmild 9

Maharaja Sawai Jai Singh
Sawai Madho Singh
Maharaja Mangal Singh
Maharaja Balwant Singh

At which place is the Abhaneri festival organised
Choose

the most appropriate answer from the options

by Tourism department of Rajasthan?

given below.

(A) Dausa (B) Jalore

(C) Churu (D) Dholpur

(E)  Question not attempted

TR & R formr grr Rt weicaa fora
T U TSI ferarT STTaT 22

it T T foreredt # @ werE SWIh 3T |

(A) T (B) STl

© =& (D) e

(E) aid 9

[ Contd...
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Who is the first prose writer of Rajasthani
literature?

(A)
(B)
©

Lakshmi Kumari Chundawat
Vijaydan Detha

Shiv Chandra Bhartiya

(D) Nathmal Joshi

(E)  Question not attempted
TSTET |IfEe % WoH Te oi@eh & 27
(A) SEHIFAR JUeTad

(B) T g

(C) Tira=rs ard

(D) U9 ST

(E) rfdia g

A foundation is considered as shallow if its depth

is

(A) Less than 1 meter

(B)  Greater than its width

(C)  Greater than 1 meter

(D) Equal to or less than its width
(E)  Question not attempted

T fia St A ST € A7 36eh! TS 8-
NI irz8: i

(B) gHh! IS ¥ 31

(C) 1HieH At

(D) 3T =STS o SR AT 309 FHH
(E) Ffdita g

Coulomb’s theory of earth pressure is based on

(A) The theory of elasticity
(B)
©
(D)
(E)  Question not attempted

13T T el T, T AT 2
(A) o= fagia

(B) TR @l gl

(C) o fagia

(D) v fEm

(E) Igaid g

,.).

The theory of plasticity
Wedge theory

Empirical rules

22

113

114

115

Find the void ratio in a soil sample. If n=40%,
ed max=2.2g/cm? e d min=1.45g/cm’ and
G=2.65.
firft & T3 W T ua 1@ ) AT n=40%,
eq max=2.2g/cm?, €4 min=1.45g/cm’ 3R
G=2.65.

(A) 0.667 B) 0.567

(C) 0.285 (D) 0.767

(E)  Question not attempted / 3T e

In soil classification and identification ‘M’ stands
for-

(A) Clay

(B) Silt

(C) Organic silt and clays

(D) Peat

(E)  Question not attempted

HaT FfTeRtur 3T g § <M’ T 37 2-
(A) et g

(B) e

(C) wafeh Mg 7R ferart firgh

(D) die

(E) 3rgaid 9

Water is flowing under constant head of 40cm in
a soil sample 20cm long and 10cm? in sectional
area. Quantity of flow in 4 minutes is 30cm3.
Find K.

(A) 275 x 107! cm/min
(B)
©)
(D)
(E)
20 9t T 3R 10 12 & AT &FaTel gt

T H 40 G Feer ¥ & A= O 9 @R
4 fiye § warre i 9 30 R B K J1d

(A)  2.75x 107! adfi/fime
(B) 1.75 x 107! aHi/fire
(C) 3.75x 107! adfi/fime
(D) 4.75 x 107! adfi/fame
(E) gaid 9%

1.75 x 10~ ¢cm/min
3.75 x 107! cm/min
4.75 x 107! cm/min

Question not attempted

[ Contd...
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In a slab, the minimum reinforcement for Fe 250

provided is-

(A) 0.10% of its gross sectional area
(B) 0.12% of its gross sectional area
(C) 0.14% of its gross sectional area
(D) 0.15% ofits gross sectional area
(E)  Question not attempted

Teh &iel H Fe 250 % foTt =aH g3 oo Jer fear
T 2
(A)
(B)
©
(D)
(E)

TGk Tohe STTATIE &het T 0.10%
T Hehel ST &=kt T 0.12%
TGk Tohe ST &he T 0.14%
Tk ToheT STTTTE &Rt 7 0.15%
AR 94

Relation between Young’s modulus and

characteristic strength of concrete is

according to IS 456: 2000.

IS 456: 2000 % STTER AT & AT T FHshie hl
IEECIRULCC R C L S

(A)  E,=500yfck

(B)  E,=5000yfck

(C)  E,=1700yfck

(D) E,=55004fck

(E)  Question not attempted / Hﬂﬁﬁ?f Iq

For lightly reinforced sections in slabs, beam and

columns etc. the value of slump should be-

(A) 75-100mm  (B) 50-100 mm

(C)  40-75 mm (D) 10-40 mm

(E)  Question not attempted

e, i 3T FTAT i § gooh Yafold el o fefT
TATT T A EHT =T -

(A) 75-100fH#t  (B)  50-100 faet

(C) 40-75Tdt (D) 10-40 foeft

() Iqaid o

,.).

23

119

120

Inadequate compaction during concrete casting
results in-

(A)
(B)
©)
(D)
(E)  Question not attempted

F5hIe FHIRET o SN TTATH T oh THOTHEET
T e -

(A) sfifem

(B) &t wifes

() wfimee

(D)  scfifem oK aefie

(E) Igaid e

Bleeding
Honey combing
Segregation

Bleeding and Segregation

The assumption that the plane sections before
bending remains plane after bending is used in:-
(A)

In the working stress method of design and

ultimate method of design

(B) In the limit state method and ultimate
method of design

(C) In both working stress and limit state
method of design

(D)  Only in the ultimate method of design

(E)  Question not attempted

TE TN foh Fohd H T8l GHAS TS G o a1a

A T&d &, 1 I9ANT e § forarm SraT @ -

(A)  TeSITe it wriefie a=ma fafer # 3R fesme
i s fafer 5

(B)  ©iwT sraw fafer o ofix fesme i sifam
fafa =

(C) Tesmea i wRRfa @ SR i sfaen
S forferat 5

(D) ohad fesitgd <t sifaw fafr

(E) 3fild o1

[ Contd...
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One of the most popular mechanical soil
conservation practices adopted by farmers of
hilly areas where sufficient soil depth is available

s,

(A) Staggered trenches

(B) V-ditches

(C) Bench terraces

(D) Contour trenches

(E)  Question not attempted

TRt &t W, Sret vty firgh i Te Suctey ®, Jwt
& foraTT I STUATS ST e} Terd ARl Fifaeh

AT HRET TEfd 7 ¥ T
(A)  shita @rgar

B) di-@rgAf

(C) w=d™

(D) @Hr== @At

(E) 3rdafid 9

Which one of the following is not an indigenous
rainwater harvesting structure used for arid, semi

arid regions and Indian deserts ?

(A) Tanka

(B) Khadin

(C) Gabion

(D) Nadi

(E)  Question not attempted

frfafiaa § & =i €t 37, 374 376 &t 31K
AT YeaET & forg w6 S et Saesf

YT SIS HeR =T T 2
(A)

(B) @i

(C) Tfer=

(D) et

(E) Srfaiaug

,.).

24

is the scientific name of “Bhabar

grass”, which is widely used for water erosion

control.

(A)  Eulaliopsis binata

(B)  Chrysopogon fulvus

(C)  Brachiaria mutica

(D)  Cenchurns ciliaris

(E)  Question not attempted

“NTSI |G T AT A7 7 & Foreent amae &9
H S hTd [T o TeT@ ST fofa SiTar 22
(A)  Ferferaifead fade

(B)  SIFEIITH $fd

(C)  sTf=rTRE HfeT

(D) g faferaftd

(E) qaid 9

Which of the following is not a suitable used for

vegetation in erosion-prone areas?

(A)  Aeacia nilotica
(B)  Prosopis cineraria

(C)  Bombax ceiba

(D)  Cynodon dactylon

(E)  Question not attempted
freafafaa & @ =9 91 wea-yaur &= § gawfd &
foTe Sweh 7 22

(A) T fAaitea

(B) SrEIfg =1

(C) @rdia Higen

(D) GrEIeH Sfdea

(E) a9

[ Contd...
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An instrument used to measure the depth to

groundwater —table from the land surface is :

(A) Piezometer

(B) Tensiometer

(C) Neutron moisture meter

(D) Barometer

(E)  Question not attempted

oifir it T & speTerATerR 1 e A % g
T foRaT ST ST 3T &

(A) e

(B) JftrEniex

(C) —ZH TH Hix

(D) ST

(E) i g

The full form of IMD is

(A) Indian Meteorology Division
(B) India Meteorological Department
(C) Indian Medical Department
(D) India Meteorology Division
(E)  Question not attempted

IMD T 90t &9 &

(A) T drem fage gmT

(B)  Wa HaH fagm faamr

(C) W Afgere favmr

(D) Rd Wy fogm yamr

(E) 3rgaid o

,.).

25

For measurement of soil erosion parameters of
Univerasal Soil Loss Equation (USLE), the ideal
slope length of the control Fallow plot is :-

(A) 22.13m
(B) 293Im
(C©) 31.22m
(D) 23.59m
(E)  Question not attempted

WW%W(W)%@W
HIEET % A9 o forg, frefaer oadt e i simest
WFWI’S‘%:-

(A) 2213 HIX
(B) 29.31 HiX
(C) 31.22#IX
(D) 23.59 HiX
(E) Igaidwd

When a thin, relatively uniform layer of soil
particles gets removed from a land surface due to

water erosion it is termed as :-

(A) Sheet erosion

(B) Rill erosion

(C) Gully erosion

(D) Splash erosion

(E)  Question not attempted

STl STl ST o R0 fH T Has o el o it
%1 Teh qqc!, STTeITehd ThHTHH Id &< ST &, S

HET ST & -
(A) e 37t
(B) et sruaq
(C) T (TTeft) STET
(D)  TIATT G
(E)  3fmild o=

[ Contd...
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For which hydrologic unit, the size range of
0.5 — 2.0 lakh hectare is suitable?

(A) Catchment
(B)
©)
D)
(E)
forer <1t forqm 3aTE & ToTw 0.5 — 2.0 g BFeaT T

TR I &2
(A)
(B)
©
(D)
(E)

Watershed
Sub—watershed
Sub-catchment

Question not attempted

ERPRUEES
JreEe
IT-ARTIE
IT-STAIET &
A 99

is determined as the maximum
watershed relief divided by the length of main

stream.
(A)
(B)
©
(D)
(E)

Relief ratio
Relative relief
Elongation ratio
Bifurcation ratio

Question not attempted

AfIRAT AR & ST i
T G i elTs § oSt e frertfi fepam strar
2l

(A)  S=EEE ST
(B)
(C) e U
(D) Tewrsi ST
(E) 3rgaid o

,.).

qe I=ET

26

11

12

13

The operation of detaching the grains from the

spikes, panicles, ear heads, cobs or pods is called

(A)
(B)
©)
D)
(E)  Question not attempted

TS i TTS, Ufiohed, ST ©eH, Thisd AT hell

Harvesting
Cuffing
Windrowing

Threshing

ST Rt T ITRAT T e SITaT 2l
(A) wErEET

(B)  FHET

(©) faugm

(D) e

(E) orgdia

What is the optimum moisture content of grains
for threshing?

AfeT 3 foru 1T i 35ay T+t 7ET = 2
(A) 25-27% B) 15-17%

©)  3-5% (D) 30-32%

(E)  Question not attempted / ag?rﬁ‘cr 949

According to (Indian Standards) IS 11691, 1986
what is the permissible limit of performance of a
thresher ?
(A) 95 kg(grain) /kW/h
(B) 85 kg(grain)/kW/h
(C) 65 kg(grain) /kW/h
(D) 70 kg(grain)/kW/h
(E)  Question not attempted
Hfem Ted (3TET) 11691, 1986 F TR IR
o ToITa 3T ST ST 1T 22
(A) 95 feruT (3FT) /ferettaTe/sier
(B) 85 fhuT (31 /fercttame/siet
(C) 65 ToruT (3T /fercttare/ser
(D) 70 TeruT (3T /feReAtaTe/sier
(E) gaid o
[ Contd...
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What is the efficiency of a diesel engine for

conversion of fuel into useful work?

Y T STATT hR H decd o [oq EiSTeT g9 <l
TETAT T 27

(A)  32-38% (B) 22-28%
(C) 42-48% (D) 52-58%
(E)  Question not attempted / 31°:|?||\Ia Iq

In towed wheel condition neglecting bearing

friction the axle torque is

e e o Reafer v e 6y < B GO
o 3

(A) 0 ®) 1
© 2 D) 3
(E)  Question not attempted / ﬂaﬁﬁﬁ Tq

Who developed the traction prediction equations?

(A) Einstein

(B) Brixius

(C)  Jethro Tull

(D) Manning

(E)  Question not attempted

N (S GATTAT ST fore forepfera fopam?

(A) TN
B) forfea
(C) Sege
(D) AT
(E) a9

,.).

27

17

18

If W, is the weight of tractor at CG, L is the wheel
base, X, is the horizontal distance of CG of
tractor from the centre of rear axle, R, is the rear
axle dynamic weight & Ry is the front axle
dynamic weight, then the value of soil reaction
force on the rear wheel (R,) is given by the

formula

afe W, 9 T CG, W 9R 2, L & o8 8, Xy
SHI o CG i TUmelt gl o g ¥ &fds g 2, R,
faedt ot =1 Tideficl W€ 3R R, 3ATelt ol
TioRite ¥R &, @ fUsd Jfed T a1 SAMfshaT I

(Ryy ST A g fea st @)
A R - W}(LzXcgt)
B R
W,(L-X
(D) R,=—x—= (Xcgfgt)
(E)  Question not attempted / ag?rﬁ?f Iq

Approximately how many types of minerals are

found in Rajasthan ? (Choose the most

appropriate answer from the options given

below)
TS § T fehe @ o ST 22 (i o
e Rt & et e T )

(A) 23

B) 33

(C) 44

D) 67

(E)  Question not attempted / 3T )

[ Contd...
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Which of the following schedule contains 29

functional items placed within the preview of

Panchayats?

(A) Eighth Schedule

(B) Tenth Schedule

(C) Eleventh Schedule

(D) Twelfth Schedule

(E)  Question not attempted

freafefaa & & fore e & d=mt & IR d 29
FTcHe Ae MU 87

(A) s sge
(B) Tl TEe
(C) et ST
(D) et STgeelt
(E) 3rgaid 9

Which two municipal corporations are added to
Rajasthan Municipal Corporation in September
20247

(A) Udaipur, Bikaner

(B) Bhilwada and Pali

(C)  Jodhpur, North Kota
(D) Ajmer, Alwar

(E)  Question not attempted

faaret 2024 # TSI TR W 9 B9 @ TR
frm S T e

(A) S, bR
(B) fictarer iR areft
(C)  SUqL, IT I
(D) 3TN, A

(E) a1

,.).

28

21

22

Which of the following statement is not correct?
(A) The Constitution does not contain any
specific procedure for the selection and

appointment of the Chief Minister.

(B) Before the chief minister enters his office,
the governor administers to him the oaths
of office and secrecy.

(C) The term of the Chief Minister is fixed

(D) The Chief Minister holds the office during
the pleasure of the governor

(E)  Question not attempted

frefafad & & SH-91 %o 98 T8 82

(A) S & e % e i Fafe % R
¢ farfire wfshar 7 21

(B) HEIWH % YEHR TEU i ¥ U&el Usquret
32 g S Mt i wroer feard 2

(C) Tt &1 FriehTe Ffea g 2

(D)  TEIwHAT TSAUTSA hl HSil deh & T ST T&ell
B

(E) 3fild 9

A State Human Rights Commission can inquire
into violation of human rights only in respect of

subjects mentioned in the:-

(A) Union List (List I) and State List (List II)

(B) State List (List 1) and Concurrent List
(List I1T)

(C) Union List (List T) and Concurrent List
(List IIT)

(D) Union List (List I), State List (List IT) and
Concurrent List (List IIT)

(E)  Question not attempted

TSI HHEATIRR TR shaol fAefafaa fowat &

Heiel H HHATIIRT o Seoisi shl ST T HehdT g:-

(A)  wE g (g=h D) sy gEh (g@=h o
(B) T g (R 1) ST wwalt g=it (W= 117)
(C)  wa g (g=h 1) ST awad =it (g 1)
(D) &= g=h (&= 1), =T g= (G 1) AR
ST T (T 1)
(E) aid 9
[ Contd...
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The State Information Commission has a duty to

receive complaints from any person:-

(A)  who has been refused information that was
requested

(B) who has received no response to his/her
information request within the specified
time limits

(C)  whothinksthe fees charged is unreasonable

(D)  who thinks information given is incomplete
or false or misleading

(E)  Question not attempted

TS T SR 1 A€ Fied ¢ foh o fmfafad
Sferal & RTehTert SITH -

(A) TS Al 7T G o | T o e m ar
(B) & Fuifed g imr o +fiaw 3wk g
AT T IS AT Tel ot &

TS T € fob it T8 e Sigfea ©

ST et @ o <t 118 e Sreglh = gt
WA §

AR g

©
(D)

(E)

Which of the following fort was built by Raja
Man Singh I in 1592AD?

(A)
(B)
©
(D)
(E)
frefafaa & o H-ar frar 1592 . § e amfée
T G ST T 912

(A) HETHTE fehett

B) fiterg fHer

(C) A fohet

(D)  FHHHTS fohetr

() SIqaid

,.).

Mehrangarh Fort
Chittorgarh Fort
Amer Fort
Kumbhalgarh Fort

Question not attempted

29

25

26

27

Siliserh lake was built by:-
(A)
(B)
©)

Maharaja Vinay Singh
Mabharaja Jai Singh
Maharaja Bakhtawar Singh
(D) Maharaja Rai Singh

(E)  Question not attempted
Feretiere giier s famtor forerss grr foram mam em?
(A) WS fa fife

(B) HENIST e

(C) RN SEdTaXfis

(D) HEWIST TARE

(E) Jaid 9

In 1986 who among the following was awarded
Murtidevi Award?

(A) Birbal Singh

(B) Vijaydan Detha

(C) Kanhaiya Lal Sethia

(D)
(E)  Question not attempted

1986 # fefaifiad @ @ fore afdest qwr &
GFRTA TR 7T o

Kaviraj Shyamal Das

(B)
©)
(D) SHIGUS TATHARH

(E)  31faild 9%

D

Name the soldier who revolted in Barrackpore
Cantt. and killed an officer in 1857?

(A) Vijay Kudarat
(B) Mangal Pandey
(C)  Sher Singh
(D) Dalip Singh
(E)  Question not attempted
39 A T 0 TqTsC e 1857 § R ke |
T foma ST wer tftrRry 1 gem s
(A) fasa g (B) WA U
(C) INfEE (D) IAuftiE
(E) aid 9
[ Contd...
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Mewar Praja Mandal was established by:-

(A) Manikya Lal Verma
(B) Mithalal Vyas

(C) Bhogilal Pandya

(D) Anmritlal Payak

(E)  Question not attempted
HATE YSTHSH ohi TITIAT fohdieh GRT o6l 71 off?
(A) TTfTRTATS Jmt

(B) HiaTdTel I

(C) wnfaTe dear

(D) ST T

(E) a1

Which of the following Riyasat were merged in

2" stage and named as Rajasthan Sangh?

(A) Bikaner, Jaisalmer

(B) Bharatpur, Karauli, Alwar

(C) Alwar, Kota, Udaipur, Bikaner

(D) Banswara, Bundi, Kishangarh, Tonk,
Pratapgarh

(E)  Question not attempted

TretfeTiae o & ferw e < g =reor # forer gat
ST ZEeRT 19 TSTET §E TET 917

(A) SRAT, TR

(B)  ¥RAYY, Ietl, STete

(C) AL, I, I, kT

(D) siwaTer, s, fepere, 2ish, Jare
(E) a1

Out of the following moisture measurement
devices, works on the principles of electrical

resistance 1S

(A) Neutron moisture meter

(B) Gypsum block

(C) Tensiometer

(D) Time Domain reflectometer
(E)  Question not attempted

feferfad it # SueRToT H € i | o wiaiy
o TogTar o o T 82

(A) = TH HiX

B) forom st

(C) e

(D) 2139 S FaciararHieT
(E) a1

,.).
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31

32

33

denotes for the ratio between the
water that reaches a farm or field and that is
diverted from the irrigation water source.

(A)

Water conveyance efficiency

(B) Application efficiency
(C)  Storage efficiency

(D) Water use efficiency
(E)  Question not attempted

[ELIREERIEHERRREECIKRIE]
I fH=TE et |id | g2 T Wit o sfft=r ok AT
<l ST 2|

(A) STt Hargd gerdm
(B) SIS a&ar
(C) VST g&qdT
(D) STl SYRNT geqaT
(E) 3qaid 9

Which of the following crop needs irrigation at

Crown root initiation (CRI) stage?

(A) Groundnut (B) Mustard
(C) Potato (D) Wheat
(E)  Question not attempted

fafafad & 9 forg waa &t 137 ®e sARemE
(CRI), 31a&T § =g it ATawehar aidt 87

(A) HTedt (B) @i
(C) &L (D) T
(E) 3l o=

Out of the following irrigation methods, which

has the highest field level application efficiency?

(A) Basin irrigation

(B) Micro irrigation

(C)  Furrow irrigation

(D) Surge irrigation

(E)  Question not attempted
frefafaa fe=ms fafemt & o fRaeht &9 T ®
STTTRINT G&TAT Tl 7T 22
(A)  sife =g

(B) He&H fH=g

©) T (w) o=

(D) i (@) o=

(E) aid 9

[ Contd...



[ Page No. 24 to 46 : AGRICULTURE DEGREE ——

34

35

36

37

E3]

According to the National Commission on

Agriculture (1976) , waterlogged areas are those

areas, which have water table depth lesser than
in below soil surface.

T Y AT (1976) % ATHR, ST W qred

& J &7 @, el gl 3t g o i STot T

TES T HA R

(A) 15 B) 105

(C) 55 (D) 15

(E)  Question not attempted / ﬂaﬂﬁﬁ Iq

Which of the following plants are not used for bio

drainage?

(A) Eucalyptus (B) Casuarina

(C) Acacia (D) Marigold

(E)  Question not attempted

At § & &9 ¥ 919 99 S et & fae
JYANT T fohT Tl 82

(A) FHfeem  (B) AT

(C) ¥ (ThEEm) (D) et (i)

(E) Agaid %

Which of the following method is used for
estimation of run-off?

(A) Random number method
(B) Curve number method
(C) Cover number method
(D) Carving number method
(E)  Question not attempted

YATE % STHH o o frer 7 @ fopw farfer <t s
foraT STaT 82

(A) AR we fafy

(B) sk g fafer

(C)  ATaToT | fafeyr

(D) TRl (SHIfaT) G fafer

() Aqaid g

National Water Resources Council (NWRC)
adopted National Water Policy for the first time
in :-

@wwwmmwmﬁmww

ST fife =t T ST
(A) 1966 (B) 1995
(C) 1987 (D) 2002

(E)

,.).

Question not attempted / 3ﬂ?|ﬁﬁ Iq

31

38

39

40

Which of the following is incorrectly matched to

the source of water?

(A) Ponds — surface water

(B) Wells — surface water

(C) Infiltration wells — subsurface source or
underground source

(D) Storage reservoirs — surface source

(E)  Question not attempted

frefafaa & @ ®F 91 I 9id ¥ Todd ade § 7T
TaT 87

(A) TS — agl e

(B) % —wael St

(C)  3id-Te U — STGEA GId AT YT &
(D) VSRUT TR — Hael ard

(E) gaid o

Who among the following took part in Indian
freedom movement and was the first woman in

Rajasthan to get arrested?

(A) Kishori Devi

(B) Anjana Devi

(C) Janakidevi Bajaj

(D) Rama Devi

(E)  Question not attempted

Frefafaa & 9 foree YR Tadsar o™ § 9
o 3R fiRwR B9 aTelt TSI T geelt Afger
off?
(A)
(B)
©)
(D)
(E)

[ERIEEI
ST gt
EIEEICCICEIE]
CIRCCil

I RRICRE]

How many km of international border is there

between Rajasthan and Pakistan?

(A) 1070 km (B) 876 km
(C) 448 km (D) 1232km
(E)  Question not attempted
TEH 3R Ifehed & st fohaa foretidier
AT T 22
(A) 1070 ferrt (B) 876 Tt
(C) 448 fordft (D) 1232 ot
(E)  3fmild o=
[ Contd...
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What percentage of the land area of Rajasthan is

covered by Hadoti Plateau?

(A) 6 percent (B) 9 percent
(C) 15.8percent (D) 17 percent
(E)  Question not attempted

TSTEA o fohde TTRIa 9-9HT T BIEIT 1 981
T g 22

(A) 6 9fwra (B) 9 yfewra
(C) 1589faw@ (D) 17 giawa
(E) 3rgafid o

In Rajasthan, which of the following river is

associated with inland drainage system?

(A) Chambal (B) Banas

(C) Sabi (D) Mahi

(E)  Question not attempted

T o, Frefafaa o @ eF-dt 7€ siqeyia s
faemTelt Tt & weifera 22

(A) = B) &

() it (D) HTeT

(E) Fdia g

Which of the following region of Rajasthan does

not have very humid or humid climate?

(A) Udaipur (B) Bikaner
(C) Kota (D)  Sirohi
(E)  Question not attempted

TSTe o Fefafiaa o | forg & <t STerarg sgd
TS 7 77 T &2

(A) 3R (B) &R
(C) @iaT (D) fauer
(E) SFfaiaug

,.).

32

44

45

Which of the following statement is not correct

about Alluvial soil in Rajasthan?

(A) This soil contains enough quantity of lime
and iron

(B) It holds light brown red colour

(C) This soil is found only in North districts of
Rajasthan

(D) This soil is very useful for the production
of wheat, mustard and cotton

(E)  Question not attempted

TSR ¥ Wetle gt 3 o & frefafead 7 8 wE-
T FIA Fal T2 02

(A) 38 firgh & =7 37 e Tt e & gt @

(B) 39 [ UT Eah! U AT &Il &

(C) e gt Faet TouH & 3ol foredt & aré
ST ®

(D) ¥ figt 1, |l ST Hure o Icared o fog
ERERRIU I

(E) 3gaid 9%

In Rajasthan, Bamboo forests is sub-type of

which of the following forest?

(A) Tropical Thorn Forest

(B) Tidal Forest

(C)  Sub-tropical Mountain Forest
(D) Tropical Deciduous Forest
(E)  Question not attempted

TE | 919 & st fefefad 5 9 g a7
IY-JhR 27

(A) ST HideR a7

(B) ST H

(C) U7 hidsiefiT ueidter o

(D)  SWThieEET quiuTet a7

(E) gaid 9

[ Contd...
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Who among the following was the First State

Election Commissioner of Rajasthan?

(A) Shri N.R. Bhasin

(B)  Shri Amar Singh Rathore
(C) Shri A.K. Pandey

(D)  Shri Prem Singh Mehra
(E)  Question not attempted

frfafiaa o @ Usea™ o vo 59 {1 AT
EaE Dy

(A) N TEHR T

(B) ff it W8k

(C) sfius uig

(D) #ft Yufte o=T

(E) SIfaia

According to Rajasthan Public Service Guarantee
Act 2011, the penalty amount for not providing
service is:-

(A) Rs. 100 per day

(B) Rs. 150 per day

(C) Rs. 200 per day

(D) Rs. 250 per day

(E)  Question not attempted

TSTEAT e Hal e AT 2011 % THR
YT 3T Tl U T AT TIRT &2

(A) % 1009fafeT  (B) % 150 Widfed

(C) ®200¥fdfeT (D) . 250 Ufdfe

(E) 3rgafd 94

The International Crops Research Institute for the
Semi-Arid Tropics (ICRISAT) is located at:

(A) New Delhi (B) Hyderabad
(C) Chandigarh (D) Bhopal
(E)  Question not attempted

eI IUHTesETT & o oy sty woe
STTEHT HEA ( ICRISAT ) Fal ford 22

(A) 8 feeett (B) TS
(C) <=<re (D) T
(E) Igaiayg

,.).
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49

50

51

The Universal Soil Loss Equation (USLE) was
developed by:

(A)
(B)
©)

Wischmeier and Smith
Tisdale and Nelson
Arnon and Stont

(D) Watson and Crick

(E)  Question not attempted
i qar &ffq qHiRor (Jueeers) # faww
[EERCIRERIRIRIN

(A)  forehfter i famer
(B) foeasiaem

(C) M AR

(D) dfeed 3R fsheh

(E) STgaiawd

Which of the following is more difficult to control
than the other form of water erosion outlines
under erosion?

(A)
(B)
©)
(D)
(E)  Question not attempted

Sl ST o 3T &I bl JorT H freferfaa & &
foret Torifora s S7feres whfe 22

(A) ITg AT

(B)  mffer aqqteT

(C) T I

(D)  SAIATITaRT TYLET

(E) STgaiawd

In desert areas

Wind erosion
Geologic erosion
Coastal erosion

Gully erosion

techniques is widely
adopted by farmers to keep the arable land
productive and to protect the area from wind

erosion.

(A) Kana bandi (B) Gabion structure
(C) Benchterrace (D) Contour bund
(E)  Question not attempted

AT &=t H i A i Rl IS S W
HIT &5 ! IR % Held ¥ s o o fepart gra

9 ®7 & qohrTeh STIATS STl
K
(A) AT (B)  TiferR &=
(€ =@ (D) FHErA S
(E) 31gaid o
[ Contd...
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Kesarbagh wildlife sanctuary is situated in:-

(A) Dholpur (B) Alwar

(C) Phalodi (D) Baran

(E)  Question not attempted

FEET ST AHAOT  H Rk R
(A)  Heg (B) 3

(C) Welrar (D) &

(E) SIfaia

Which of the following environmental issues is
highlighted by Indira Gandhi Canal in Rajasthan?
(A)
(B)
©)
(D)
(E)  Question not attempted

e e T e § fefafed § 8 e
TATGROMRT T, X TehTRT STerdt 22

(A) AT

(B) =AM ygwr

(C) HHET I

(D) T

(E) rgaid o

Air Pollution
Noise Pollution
Human Migration

Soil Salinity

The statement not correct about the Desert Soil of

Rajasthan is-

(A) This soil is displaced by winds

(B) It keeps more salinity

(C) This soil is found in Western Rajasthan
(D) It can absorb and hold the water much
(E)  Question not attempted

T T Eart gt o SR 0 HI9-97 o 98
T &
(A)
(B)
©
(D)

e firgt wams?t g foreenfia 2t 2

g 3freh Taurar Tadt ¥

e Tt aferet Tromeer o T STt 8

Tg qHT HT AT FIMT T gRoT =
ol 8

(E) Igaid g%

,.).
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55

56

57

Udaipur region lies under which of the following
agro-climatic zone of Rajasthan?

(A) Arid Western Plain Zone

(B) Irrigated North Western Plain Zone

©)
(D)
(E)  Question not attempted

ST & TSI o Ffaiad § & fora F-
SaR & o ST AT 82

(A) 3T et Aar &

(B) fiifera saz ufeeft e &

(C)  31ef 37 el et &

(D) SY-3ATE gfequft Hert &

(E) STgaiawd

Semi Arid Eastern Plain Zone

Sub-humid Southern Plain Zone

Nagauri breed of cow is found prominently in
which of the following places of Rajasthan?

(A)
(B)
©)
(D)
(E)  Question not attempted

AR 5 T T TSI o fefTiad | 9 forg
T T Y@ | UTE S 82

(A) T

(B) TG

(C) T

(D) IR

(E) rfdita o=

Bikaner
Hanumangarh
Kota

Udaipur

In Rajasthan, Anta power project is based on

which source?

(A) Water

(B) Coal

(C) Gas

(D) Atomic Energy

(E)  Question not attempted

TSTET H ST fored TS fohd | ox Sreid
27

(A) ST (B) I
(C) ™= (D) AT ST
(E) aid 9

[ Contd...
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About 70% of the irrigation in Rajasthan is from:-

(A) Rivers and Canal

(B) Ponds and Lakes

(C) Taps and tube wells
(D) Nadi and Bawdi

(E)  Question not attempted

TSI AT 70% = aad?
(A) AfEET S et

(B) et A et

(C) 7 IR YA

(D) Tt AR A

(E) gaidud

Which of the following lake is not a salt water

lake?

(A) Didwana (B) Kolayat

(C) Sambhar (D) Pachpadra

(E)  Question not attempted

frefafiga 4 @ -6t giier @ a6 3t 72 22
(A) Eieamr (B) Hemd

(C) W (D) Y=Uw

() AJaid %

During year 2014-2018, approximately how
much length of the National Highway is added

with reference to Rajasthan?

(A) 3600 km (B) 8300 km

(C) 9500 km (D) 6800 km

(E)  Question not attempted

a¥ 2014-2018 & H, TSI & Had T T
TN T TS AT Rt a1 718 27

(A) 3600 ferHt (B) 8300 forHt

(C) 9500 ferdt (D) 6800 TerHt

(E) 3rgaid o

,.).
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63

Which of the following statement is not correct
for row spacing?

(A) Narrow row spacing is used for wheat and
legumes etc

(B) Medium row spacing is used for sunflower
and mustard etc

(C) Widest spacing is used for maize and
pigeonpea etc

(D) Narrow row spacing is used for maize and
mustard etc

(E)  Question not attempted

tftr taue & fog frefafiad 8 @ =9 91 s 98
T 87
(A) T AR Hicr 37fe o forg wehtof dfes sfaue
CAREERIUNERINSITIRS

et i gt e o fo 7w dfth
ST T ITANT f3hAT STTAT

TeehT 3T TR AT o TIC e S1feres =g
FAUS R ST Tl ST &

Hereh! ST G 3111 3 forq wehivf dfth sfatrer
CAREERIUNERINSICIRS

(E) STgaiawd

Which of the following equipment is used for

(B)
©

(D)

mechanical weeding?

(A) Hand hoe (B) Dibbler
(C) Chisellar (D) Plough
(E)  Question not attempted

ffafaa 9 9 =9 91 Iuer Fifes 0 & fau
KERIUNCRIRS I IR

(A) B1Y FaTd B) feaer
(C) Tusier (D) &
(E)  31qaiid 9%

What is the ploughing field capacity of indigenous
(desi) plough?

(A) 0.2-0.3 ha/day

(B) 2-3.2ha/day

(C) 0.2-0.3 acre/day

(D) 3.5-5.2ha/day

(E)  Question not attempted

R & 6T SIATS b & &7 T &7
(A)  0.2-0.3 gyl

(B) 2-3.27 I

(C) 0.2-0.3 THe/faA

(D) 3.5-52FFfA

(E) qaiaud

[ Contd...
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Tillage below depths of mm is
referred to as subsoiling.

firft o1 e & A9 A A
BERIHSUCTIS G
(A) 100 (B) 200
(©) 50 (D) 350
(E)  Question not attempted / iﬂgﬁlia Iq

The process of laying the cut grain crop uniformly
with ears in a single direction in a row is known

as:

(A) Windrowing (B) Conveying
(C)  Gathering (D) Feeding
(E)  Question not attempted

T g3 SIS hl HE I T Ufeh H Gk & famm o
U &Y ¥ STToTal o a1 fora T Y Iishar ol 59 &9
ffGlﬁTEl'l?lT%

(A) faetgm (B) &=
(C) Tafar (D) IS
(E) 3rgafid 9

As per Bureau of Indian Standards (BIS), what is
the maximum grain losses of rice, wheat and

gram permitted for combine harvester?

WA A S (SSTSTH) o SFFER, shargd
T o foTT =, 1 3 = o sfirehan fora
TS &l T SAFAf &2

A 1% B) 2.5%
©) 5% D) 7.5%
(E)  Question not attempted / 3ﬂ?|ﬁﬁ Iq

,.).
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69

Which of the following equipment is not used for

wheat harvesting?

(A) combine harvester

(B) conveyor reaper windrower
(C) sickle

(D) plucker

(E)  Question not attempted

frfafaa & & 7 @1 S 7 it e % foe
I 2 foham ST 22

(A)  heTgT BTaE

(B) gt {im faelear

(C) Ta=a

(D) W

(E) 3qaid 9

is the drainage density times the
maximum basin relief .
(A)
(B)
©
(D)
(E)  Question not attempted
St Tt Bea SR ST =aTee #1 AT 8
(A) I Tl &1 (D)
(B) HUeT 3=aTE (Rg)
(C) FeS-WEgu H&T (Ry)
(D) SIfE SRR FTF (Sy)
(E) Igaid e

Drainage factor (Dy)
Relative relief (RR)
Ruggedness number (Ry)
Basin shape factor (Sp)

Draught Prone Area Programme was started in :-
@ JA0T & HRIHH el I (AT T T2

(A) 1951
(B) 1979
(C) 1996
(D) 1973
(E)  Question not attempted / aaﬂﬁﬁ Iq

[ Contd...



[ Page No. 24 to 46 : AGRICULTURE DEGREE ——

70

71

72

E3]

The type of soil erosion, that is caused by falling
raindrops beating hard on the soil surface is :-
(A)
(B)
©)
D)
(E)  Question not attempted
firgt <1 wras W R At it <1 siat o SR 8
ITAT &T STILEH T THRT 2
(A) Bl H B 1T ST
(B) M@ B ITeAT 319G
(C) W& 3muE
(D) HTAT (TTedt) 3T9E
(E) SFfaia =

Splash erosion
Sheet erosion
Rill erosion

Gully erosion

In the Universal Soil Loss Equation (USLE) if

A = 224 RKLSCP, the factor ‘K’ denotes
?

(A) Rainfall erosivity index

(B)  Soil erodibility factor

(C)  Crop management factor

(D) Conservation practice factor

(E)  Question not attempted

eI TaT BT TR (USLE) A = 2.24
RKLSCP # ek ‘K o1 g91iar 7

(A) =T &R0 g

(B) el 31U R

(C) %Ed Y9 Ik

(D) HIEIT Y h1Th

(E) SIfaia

Which of the following crop has a good potential

for erosion control in strip cropping practice?

(A) Maize (B)  Sorghum

(C) Pearl millet (D) Groundnut

(E)  Question not attempted

fAfaRad & § % € $9d § 981 B TG §
heTa AR T STt T 72

(A) HeFRT B) wdAX

(C) w~[T (D) Tt

(E) Igaid g

,.).
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75

is a mechanical erosion control
measure, consist of construction of step like fields

along the contours by half-cutting and half-

filling.

(A) Bench terrace

(B) Contour bund

(C) Graded bund

(D) Contour trench

(E)  Question not attempted

Torere ST ST ST ST Y o 10 GHI= o 910

I S &9t b T 2mfie 2)
(A) S=3H (B) &HTde
(€) IeTE (D) ke
(E) 31qaid 9%

In which city, the Central Arid Zone Research
Institute (CAZR]I) is located?

(A) Jaipur (B) Jodhpur
(C) Udaipur (D) Jaisalmer
(E)  Question not attempted

FE I & STTHEM HEAM (CAZRI) o w18t
o o 22

(A) SHEI (B) Si¥q
(C) I (D) ST
(E) 3{aild 9

Which of the following land—use capability class
has soils with very few or no limitation that
restricts their use, and need ordinary management

practices to maintain productivity?

frfaiad % & forg fi-3wamT awar @ i fig
g FH AT HAT e @ ST 37 STANT i Aasiferd
LT B, I IcATEehdT SHTT T o folt HTaT=T YeieT

Tt T SATavHAT BT 82
(A) ClassI (B) Class VIII
(C) ClasslV (D) Class X
(E)  Question not attempted / ﬂ@ﬁﬁ?r Iq
[ Contd...
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What is the slope percentage, where contour

cultivation is most effective for prevention of soil

loss?

T T TSI T &, STel (gl Y &ff hl Uhemd
oI wvii=er Wt et et 22

(A <2% B) 2-6%

© 7-15% (D) >16%

(E)  Question not attempted / 31@?1'?@ Iq
Contour bunding, the most popular soil
conservation measure in the country, generally
consists of bunds?

(A) Rectangular (B) Trapezoidal

(C) Oval (D) Square

(E)  Question not attempted

o S Ao T T 9T e i B o
R SgH B B

(A) AR (B) UHAHITH

(C) @R (D) &R

(E) 3rafd 94

Which of the following is not a watershed

development projects of India?

(A) Drought Prone Area Programme

(B) Flood Prevention Programme

(C) Desert Development Programme

(D) National Watershed Development Project
for Rainfed Areas

(E)  Question not attempted

frafafgad 9@ S v H arewie foawme afEsm
& &

(A) HET YA & HrEHA

(B) & U sy

(C) v faerma sl

(D) Tt AT &t o forg asdi arewis faswm
gfEnsT

(E) orgaid %

,.).
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80

81

82

Soil water held by forces of surface tension and
continuous films around soil particles and in pore
spaces 1s

(A)

Hygroscopic water

(B) Capillary water

(C) Gravitational water
(D) Non-capillary water
(E)  Question not attempted

HaT T S HAg! a1 St 371 HaT ol o 9 3T
qor fog Tt § fAia feew gra amor foram STar 2,
TS FTR?

(A)  STEATITE STt
(B)  HisTeRT STA
(C)  TTecaTshyor Set
(D) TR-HiTHT I
(E) 3qaid 9

How many classes are there in the land use

capability classification?

H ST & afientor & foha ot &2
(A) 8 B) 6
(C) 4 D) 10

(E)  Question not attempted / 3T B
In Herringbone drainage systems, the angle

formed between the main line and the laterals is:-

ST S et YorTet #, 9T ArsT 3R 9

o= 994 I I Eull
(A) 45° (B) 90°
(C) 30° (D) 60°

(E)  Question not attempted / 3T B

is used in the development of a

mole drainage system.

(A) Spade (B) Plough
(C) Rotavator (D) Drill
(E)  Question not attempted
et gt fireen & forenmar o forept Sw= fofam
ST 82
(A) T ®)
© e (D) fea
(E) aid 9
[ Contd...
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Which of the following can cause “coming out of
oily gum materials on opening the lateral ends” in

a drip irrigation system?

(A)  Accumulation of dirt in pipes

(B) Displacement of filter elements

(C) Abundance of algae or ferrons materials in
water

(D) Saline water

(E)  Question not attempted

frefafed & @ & fgu {6 yomeft & ad ®r
WA W e T AT o STet 3T T SR a9
TR 27

(A) TYT H T ST SHT BT

(B) et deat & T

(C) U o SraTet IT U et St STferehar

(D) WRIYHT

(E) Agaidud

The

Brahmaputra—Meghna system in India is of

biggest catchment area of Ganga—

~ 210 million ha

(A)

(B) ~ 70 million ha

(C) ~170 million ha

(D) ~110 million ha

(E)  Question not attempted

W H TTT-ST&IGA-HEAT JUTe! shT el 92T STeTdaor
BE] H

(A)  ~ 210 foferaT g

(B) ~ 70 fuferm 2aw

(C)  ~ 170 fafera g

(D) ~ 110 faferaT g

() 31aid 9

The estimated amount of average annual rainfall

in India is :-

(A) 1170 mm (B) 1530 mm

(C) 930 mm (D) 1730 mm

(E)  Question not attempted

R I SfEd afNer aul I AT HE
2

(A) 1170 et (B) 1530 foeft

(C) 930 faft (D) 1730 fodt

(E) a1

,.).
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The following equation related to drainage is

derived by which scientist ?

_ 8k, Dh+4k

L2

Glover

R=gq

(A)
©) (D)
(E)  Question not attempted

S et @ gefag fefafaa adeor e

AgfreR gRT G R TR 22
8k, Dh + 4k _h’

R=¢g~= LZ
(A) T (B) gIge
(C) | (D) #fT

(E) rqdia g

(B) Hooghoudt

Dumm Manning

The most extensively used envelope material for

sub-surface drainage is

(A) Sand (B) Gravel

(C) Fibre-glass (D)  Sock fabrics

(E)  Question not attempted

I0-TqE 9 T & T wee Fme §9 9
TEHTC 3T ST ATl ST |t 3

(A) @ (B) a

(C) TR (D) HTH B

(E) 3rfmild o2

ICAR — Central Institute of Agricultural
Engineering (CIAE) is located at

(A) New Delhi (B) Bhopal

(C) Bengaluru (D) Jabalpur

(E)  Question not attempted

STMEHITR — Hel1T HiY SNFIGAT TEIH (CIAE)
_ uf@s

A) Hfeelt  (®) WO

(©) FgE (D) AR

(E) a9
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The irrigation frequency in a cropped field is not
affected by

(A) Crop (B) Soil

(C) Fertilizer (D) Climate

(E)  Question not attempted

U Il & | =R # st o
ST 2 Bl 2

(A) wHd (B) Tagt (gam)

(€) o (D) SeETg

(E) 3rafd 9

The highest amount of water during the growth
period is required in

(A) Rice (B) Groundnut

(C) Sugarcane (D) Finger millet

(E)  Question not attempted

forenra S1afyr o SR wed SAfere O A STTavEehar
_ HaAdy

(A) =mEd (B)  Hhedt

(©) T (D) Tt

(E) gaid 9

Which of the following tillage equipment is most

suitable for sowing seeds in conservation

agriculture?
(A)
(B)
©)
(D)
(E)  Question not attempted

frfafiad § @ 9 |1 a15 T e Y J
ofiST &1 o fofT el SRh 27

(A) Sh-fea v die fea

(B) feaer

(€) =T

(D) TEA

(E) Agaid %

,.).

Zero-till ferti seed drill
Dibbler
Harrowing

Rotavator

40
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93

Which of the following is correct formula for
Motion Resistance Ratio (MRR)?

(A) MRR = Gross Traction Ratio — Net
Traction Ratio

Gross Traction Ratio

(B) MRR = Net Traction Ratio
_Net Traction Ratio
(©) MRR= Gross Traction Ratio
_ 1= Net Traction Ratio
(D)  MRR= Gross Traction Ratio
E)  Question not attempted
p

e I T (MRR) & foe fefafaa o @
I A1 9 T o7

(A) MRR =¥Hehcl HNUT TG — I[& HY ST

(B) MRR = (¥ehel YU FU) / ([& FH0
STIUTA)

(C) MRR = (& FN I{UM) / (Fhed HA0
STIUT)

(D) MRR = (1-3[5 YT IFII) / (Hehel HH0T
SAIUTA)

(E) a9

The mechanical manipulation of soil in the
presence of standing water in the field to create a
least pervious layer that prevents the loss of water

through percolation is called as:

(A) Zero tillage (B) Puddling
(C) Sub-Soiling (D) Chiselling
(E)  Question not attempted

T H @S IHT AT HIsET H el H Fihen 2T w0
Teh; AH T TTd TS STl @ S e o Jreqm |

T o JoET T Uehell @, 38 T el ST 87
(A) ST feas (B) usfe
(C) waEEfdT (D) fSfeT
(E) 3l o=
[ Contd...
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The formula for power utilization of a tractor

(Py¢) for a particular operation is expressed as:
Where Py; is required PTO power for an operation,

P; is rated PTO power of tractor; Fg = power

réserve

foreft forTe SHATRT o foTq 3T (Pyy) 31 2Ifeh ST
1 T 39 THR h TohAT ST 2

TRl Py, foreft SAtaer & forw s1rawerss PTO Wtk 2,
P; 3FT I € PTO W ®; Fg = TR fimd

_ Ptr (1 +f?)
(A) Put_P—WXIOO
P
P %100

(B) ut Ptr (1_]2)

(C) Putzl_];+Ptr
1
®) P,= Trs x 100
(E)  Question not attempted / ?FI@?FF{?T Iq

The process that consist of heating vegetables
(< 100° C) for a short time to inactivate enzymes,

remove air, and soften the food is called as:

(A) Blanching

(B) Sorting

(C) Peeling

(D) Canning

(E)  Question not attempted

USITEHT st SR T, BT i 82 3T HISH i
T A o T Afost 1 e 9 o FoTe T &

(< 100° C) 3T TfsHaT ST T HaT STTdT 82
(A) ST

(B) Hifem

(C) Bt (foefim)

(D) T

(E) a9

,.).
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Which of the following is not a primary purpose
of pasteurization of milk?

(A) To destroy pathogenic microorganism

(B) To inhibit enzyme activity

(C) To extend shelf life

(D) To increase the fat and solid not fat( SNF)
percentage

(E)  Question not attempted

refcTia @ & s 91 g4 o WTgdeRtor skt STtk
IR A 22

(A) WIS GEASE! Sl T8 FHAT

(B)  USITSH Tfcfafer st ek

(C) T WATEH i ST

(D) =TT IR Gifde Al e (T@ T Th) gfaerd
I SGHT

(E) qaia g

In the process of milk sterilization, what is
denoted by the decimal reduction time or ‘D’

value ?

(A) Time required to kill 90% of
microorganisms present

(B) Time required to kill 10% of
microorganisms present

(C) Timerequiredtokill 1% of microorganisms
present

(D) Timerequired tokill 99% of microorganism
present

(E)  Question not attempted

T o TSI ohl FTshal H, SerHerd AT GHT
7 EI’ | § T ST ST 87

(A) HISE 90% Hewsial sl 7 % foTT HATawash
q
(B) HISE 10% HEWSIAT bl A1 o foTu sAreaaren
i
(C) HISE 1% gewsial sl 7 & foe smawaeh
qHy
(D) IS 99% Yewsial sl 7R o feIg AT
q
(E) gaid 9%
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The heat transfer into the food in hermetically

closed packages occurs in three steps.

a. Heat transfer through the package
Internal heat transfer from the inner surface
of the package to the coldest point of the
product

c. Heat transfer from the heating medium to
the package surface

IEE T H &g Yohel H WG Yt H AT

TTTAROT 1 =T & Brar 2

a.  Uchol o HTEAH © HSAT ohT TATHTAROT
Yokt T AT HAE U IcA1E o T 3¢ feig
qeh 3T ST T

c. O HIEAH ¥ Uhel il HdE dd ST
TN

select the correct answer showing the correct

order of three steps.

ot =l 1wt shH feward g HEt ST |
(A) a—-b-c B) b-c—-a
() c—>a—-b D) b-a-c
(E)  Question not atternpted/ﬂ':ﬁlﬁ?f Tq

In which of the following types of threshing
cylinders, the maximum positive feeding action

takes place?
(A)
(B)
©
D)
(E)

Spike tooth
Syndicator
Raspbar
Hammer mill

Question not attempted

frafafaga v o fora g s gt facierd srfereran
HRNIeHe e fsram aidt 22

(A)
®)
©
(D)
(E)

,.).

T 4
[GICETN
LUSEIN
et fret
IR 9%
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Air refrigeration works on cycle.
(A) Reverse Carnot

(B) Carnot

(C) Otto

(D) Kreb’s

(E)  Question not attempted

EIRRHICE] =I5k T HTH LT gl
(A) fad#wER

(B) wMIC

(C) A

(D) shed

(E) 3gaid 9%

Who among the following named ‘Raithan’ to
present day Rajasthan in 1829?

(A)
(B)
©

George Thomas
Colonel James Tod
C.A. Hackett

(D) V.N. Mishra

(E)  Question not attempted
frfafaa & € forae 1829 H FaHT TSTEAT 1 A9
I ™M

(A) ST oTg

(B) AT I

(C) ®T e

(D) ot fsm

(E) rfdia g

Who began excavations at Harappa in 1921?

(A) Daya Ram Sahni

(B) S.R.Rao

(C) M.R. Mughal

(D) B.K. Thapar

(E)  Question not attempted

1921 ¥ ST H TS fohe I[& 7

(A) WNHEEAT (B) TEAR TS
(C) WIALFE (D) e 9w
(E) gaid o
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Who among the following associates the dynasty
of Guhils with the rulers of Vallabhi?

(A)
(B)
©
(D)
(E)
frfaflaa & @ &9 qieat & a2 1 geodt &
IITHeRT & SHedT 87

(A) SIS

(B) el Bel

(C) SorEt

(D) Ty It

(E) gaidwd

James Tod

Abul Fazal
Nainasi

Gopinath Sharma

Question not attempted

In 1539 Sher Shah Suri, defeated Humayun in the
battle of -

(A) Kannauj (B) Panipat

(C) Chausa (D) Chanderi

(E)  Question not attempted

1539 ¥ IRRMTE Gl + TR, ! fordt g & 2
(A) IS (B) UHiua

(C) = (D) =

(E) SFfdia g

Famous architect Vidyadhar Bhattacharya

designed which of the following city of Rajasthan?

(A) Jaisalmer (B) Jaipur

(C) Bundi (D) Ajmer

(E)  Question not attempted

TS ARqER foEnR wEEE 7 TSEE %
freferfiad 9 @ o @ et festred forar om
(A) SHEeHT (B) SR

(©) o (D) 3

(E) Iaiayq

,.).
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Which fort is situated on a plateau which is

famous as the Plateau of Mesa?
(A)
(B)
©)
(D)
(E)

-9 fohelT 38 Y3R 9T feord 2 ST 4T & Y31 o A8
T vieg 27

(A) FIATE
fadteTe
TOTYHR

Kumbbhalgarh
Chittorgarh
Ranthambhor
Nahargarh

Question not attempted

(B)
©)
(D)
(E)  orfdita o=

ATelTe

Who among the following is the founder of
Niranjani Sect?

(A) Laldas
(B)
©
(D)
(E)
FFTAREd 5 & S FRSHT HYaR o eI 82

Jasnathji
Dadudayal
Saint Haridas

Question not attempted

ATASTH

ECEINE

(A)
B)
(C) <rgearet
(D) HdENE™
(E) a9
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108 Who among the following established thirty-six | 110 Who is the first prose writer of Rajasthani
workshops (Chhattis Karkhanas)? literature?

Choose the most appropriate answer from the (A) Lakshmi Kumari Chundawat

options given below.
B) Vijaydan Deth
(A) Maharaja Sawai Jai Singh (B) Yjaydan Letha
(B) Sawai Madho Singh (C)  Shiv Chandra Bhartiya

(C) Maharaja Mangal Singh (D) Nathmal Joshi

(D) Maharaja Balwant Singh (E)  Question not attempted

(E)  Question not attempted

Freeferfa 8 e vy e e ST et 5 S Tl e, 17 27
et fa T forehedt & & e I ST TH| (A) EHFHT FuerEd

(A) VERIST HaTs SHTHE (B) fosmrem g

®) . (C)  Trer=rs Wt

(C) Wmaﬁg o) .

(D) HETIST serdd {48

(E) Aaayd (E) STgaiawd

109 At which place is the Abhaneri festival organised | 111 The highest sensitivity towards water shortage is

by Tourism department of Rajasthan? Choose observed in Crop.
the most appropriate answer from the options

given below. (A) Cotton

(A) Dausa (B) Maize

®)  Jalore (©) Millets

(C) Churu
©) Dhol (D) Cabbage
olpur

(E)  Question not attempted (E)  Question not attempted

TSIEA % T fmT g0 Sl weies fhg art <l Y % afq g 1frer Gaesiierar foem
T IT 3TN o Trar 22 HEel U 2@ STt 22
e foq T forshedt 7 € Hed I I | (A) U
(A) e (B)  WeFH
(B) SR
(C) STsT
<© =&
(D) e (D) Tt
(E) <igafa sy (E) eriaws
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If the rooting depth of a crop is 40 mm, and
furrow irrigation is used, where the field
application efficiency is 60%, what will be the

gross irrigation depth?

(A) 67 mm (B) 150 mm
(C) 48mm (D) 74 mm
(E)  Question not attempted

af foReft T T STg TeNTE 40 it 2, ST ws (w0
TE=ITS 6T ST foaT ST 2, STet &5 STISRINT geFa

60% 2, a1 Tehet TS Texrs m anfi?
(A) 67 fudt (B) 150 foet
(C) 48 fudft (D) 74 fuefy
(E) AgaRawg

If a crop has production of 6000 kg/ha,
evapotranspiration loss of water is 500 mm, and
total water requirement for the crop is 1200 mm,
then what will be the CWUE and FWUE values,

respectively?
(A)
®)
©)
(D)
(E)

gfe fordll wHA T IART 6000 forumRFTT 2,
IS § 9T ST T 500 i ®, q9T wEe o
foT et et <t Srargerskar 1200 et €, /T CWUE
AT FWUE o 9T ShAST: 47 817

(A) 120 T 50 fopmm/2seaw/fimdt
(B) 1299 5 fopam/Reeav/ it
(C)  5aer 12 frmRaeay/fd
(D) 0.5 7 1.2 fermmReay/firdt
(E) SAfafaug

,.).

120 and 50 kg/ha/mm
12 and 5 kg/ha/mm
5 and 12 kg/ha/mm
0.5 and 1.2 kg/ha/mm

Question not attempted

45

114

115

Application of water in to the furrows

intermittently in a series of relatively short ON

and OFF times of irrigation cycle denoted as

(A)
(B)
©)
(D)
(E)
fH=TE =5k o AYETHd A =Tl TN ST wHT
@A § Th-%h L ATl § UM T SN, R
ey deETIEre
A)  wfrgg %) o=
B)  IHfcreh Tg () ferme
©) frrEs (w0 fdr

eI (@) fe=m

D)
(E)  3fild o=

All furrow irrigation
Alternate furrow irrigation
Skip furrow irrigation
Surge irrigation

Question not attempted

What is the formula of slip or Travel Reduction
Ratio(TRR)?

(A) TRR =1 — (Actual velocity)/(Theoretical
velocity)

(B) TRR = (Actual velocity)/(Theoretical
velocity)

(C) TRR = (Output power)/(Input power) x
100

(D) TRR =1 — (Output power)/(Input power)

(E)  Question not attempted

f&eTq =11 e e AT (TRR) 1 & #4722
(A)

TRR =1 — (Aredfash oT)/(@gifass am)

(B) TRR = (aredfash am)/(@gifaes am)

(C)  TRR = (3T3ZYE UTR)/(FTE =) x 100
(D) TRR = I — (H13YL UTE)/(FTYE UTeN)
(E) a9
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Which of the following device is not used in land

reclamation, levelling and grading operations?

(A) Buck scrapper

(B) Puddler

(C) Back hoe loader

(D) Back hoe dozer

(E)  Question not attempted
frefetfiard 5 & o1 o STehRtoT i e, Hac iR
e S T i 3T A R S 2

(A) FF ThI (B) TS

(C) d®edARL (D) THE S

(E) Srgaiaud

What is the name of the tillage operation that is
performed to open up any cultivable land to
reduce soil strength, to cover crop residues and to

rearrange soil aggregates?

(A) Primary tillage

(B) Secondary tillage

(C) Tertiary tillage

(D) Quarternary tillage

(E)  Question not attempted

Tirgt <Y Tohd Bl 1 L, TH STIRIST hl Bohd 3T
firgh & W=l 1 qedatierd e o for foredt off
<t e s o et % fere o T el g
TS ST AT RIT 27

(A)
(B)  Tecitare S[arg
(©) el e
(D) =Igeleh T
(E)
Which of the following is not a secondary tillage
equipment?

(A)
(B)
©)

Harrows

Cultivator

Leveller

(D) Mouldboard plough
(E)  Question not attempted
Fpeafeatia & & e e Facfrs SaTd Sushn 7 27
(A)

(B) A

(C) aeR

(D) Hicsdls &

() Iqaid g%

,.).
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Which of the following tillage operation is done
to break the hard pan beneath the plough layer,
for facilitating the deep penetration of plant

roots?

(A) Harrowing

(B) Levelling

(C) Chiselling

(D) Clod crushing

(E)  Question not attempted

freAfetiied = & <1 &1 S[aTS el o i ot oh A=
1 X Hed ol dred o forw fomam sirar 2, anfer drert
T STST i TETTS qoh TaIRT et | gioraT a1

(A) =UgT

(B) HHAT R
(C) Tasifet
(D) TS ShHIGT
(E) rfdita =

The process of placing seeds in holes made at
definite depth at fixed spacing in seedbeds and

covering them is called:
(A)
(B)
©
(D)
(E)

aftet i # i gl o e meus W Bk |
S ST 3T 3= TR I IfshaT il e 2

(A) SieaIET
B) feafem
(©) fyfem

(D) T

(E) Jaid 9

Broadcasting
Dibbling
Drilling
Ploughing

Question not attempted
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